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1. -C_omplete the sentence with the correct * 6. Which of the responses is correct for the - -
preposition: statement? .
The customs were searching “] like ice-cream.” &l m-
drugs at the airport. (A) SoamL 'EI
(A) for (B) SodolL
(B) on (C) SoIdo.
(C) in (D) Ialso like.
(D) at
o . 7. A of wolves.
2. Insertthecorrectprepositioninthe following (A) herd
sentence: ) .
He acceded my request. (B) colony
(A) for (C) drove
®) of (D) pack A
(C) on
D) to . "
8. Study the following sentence:
Come and meet me in my office.
3. A synonym of the word ‘Equivocal’ is What part of speech is ‘me’?
(A) Ambiguous ' (A) noun
(B) Equal af 30 (B) adverb _
(©) Clear 'E] (C) pronoun ]
(D) Vocal (D) modal verb

4, They are men of like build and stature, In 9. The feminine gender of Drone is

this sentence ‘like’ has been used as afan (A) Duck
(A) Adjective (B) Bee
(B) Noun (C) Filly .
(C) Preposition (D) Doe )
(D) Adverb

10. Replacetheunderlined portion with anidiom

5. Fill in the blank: from the list provided below:

KEUBEEAAUBTREAANETREAK QRS EOREVRAIQRAAAAIARGRAROAORAARAKREANIETRED D %Kk

He could not to see his brother I begged him to reconsider his decision but
in any kind of distress. he refused to yield.

(A) bare (A) took to his heels (] w]
(B) beer (B) put his foot down -E '
(C) bore (C) turned his head
(D) bear (D) took to heart

E5E
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11, What is the most appropriate passive form * 16, Replace the underlined verb with the

of the following sentence: appropriate phrasal verb from those given below:
The mason is building the wall. The plan did not succeed. k40
(A) The wall is being built by the mason. (A) come on & .
(B) The wall is been build by the mason. (B) come in DA
(C) The mason build wall. "(C) come along
(D) The mason is built by the wall. (D) come off

17. Change the voice:

12, Anantonym of the word ‘Magnanimous’ is The guard refused him admittance.

| (A) Selfish [u]#[m] (A) The guard refused to let him in.

" (B) Generous = , (B) Admission was not granted to him by

| (C) Courageous = the guard.

: (D) Ignoramus (C) He was not admitted by the guard.

{ (D) He was refused admittance by the
guard.

13, He replied that he worked whenever he
liked— This is a/an
(A) Simple sentence
(B) Compound sentence
| (C) Complex sentence
’ (D) Exclamatory sentence
|

18. Replace the underlined word with the
appropriate idiom from those given below:

He listened when his boss spoke.
(A) heard carefully

(B) paid his ears

(C) gave his ears

(D) was all ears

14. Replace the underlined verb with the
appropriate phrasal verb from those given below:

The building was demolished last year.
(A) pulled down

(B) turmed down

(C) gone down

19. An ophthalmologist deals with
(A) matters of the brain,
(B) diseases related to the respiratory
system. .
(C) diseases of the eye. E E.

(D) aparticular skin disease.  [w] 5%

-

(D) made down
20. Fill in the blanks in the following sentence
with the appropriate words:
15. Change the following sentence into an Aman live satisfactorily
| Affirmative one: ! he does at present half his
This story is incomplete. - present income.

(A) This story is not incomplete. -+

(B) This story is complete.
(C) Completeness is there in this story.
(D) This story is totally complete.

(A) could, very, as, by
(B) can, as, as, on

(C) would, as, like, with
(D) will, very, since, by

AU BBAABEHABB AR GEIEOISOTCRTINANBOIPRIRTORRIBAADE AR D * %D &G k%

Please Turn Over
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| 21. Replacetheunderlined portion withanidiom 26. Choose the correct alternative:

from the list below: The car broke down and we

He got himselfinto trouble by interfering in get a taxi.
his neighbour's affairs. . (A) havé to

(A) strained every nerve =] E, (B) had to

(C) out of spirits (D) gotto

(D) bumt his fingers

22. Fill in the blank with the correct modal 27. Replace the underlined verb with the

verb: appropriate phrasal verb from those given below:
The online store informed that we He has guarrelled with her. afdo
cancel the order we placed, if we (A) fallenin x -
wish. (B) fallen out =]
(&) shall (C) fallen over -
(B) would (D) fallen down
(C) will
(D) can
28. Fill in the blank:
23, Replace the underlined verb with the . Th"? — half of the play was
appropriate phrasal verb from those given below:; g Umnteresting.
I have stopped smoking. ofio (A) later
(A) giveninto h ! (B) latter
(C) latest
(C) givenup (D) late
(D) given on

29. Change the voice:
All his friends laughed at him.
(A) He was laughed at by all his friends.
(B) His friends laughed at him.
(C) His friends were laughing at him.
(D) He laughed at all his friends.

24, What kind of a sentence is the following?
The moon was bright and we could see our

(B) givento [x]
| way.
(A) Complex sentence
(B) Simple sentence
(C) Compound sentence

(D} Exclamatory sentence

30. Lifeis as tedious as a twice-told tale— The
figures of speech used in the sentence are:

(A) Metaphor and Alliteration [u] # []
1
(B) Apostrophe and Hyperbole E

(C) Simile and Alliteration

25, The adjective form of the word ‘Glory’ is
(A) Gloried
(B) Giorious
(C) Glorification
(D) Gloriously

AEAABTEARABIAABRU XTI RTEIEINOAITTAIRAIACBSEIFTAROATBATIEURBTRAAUB R RS D&, *

(D) Alliteration and Personification
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31, 10 men can complete a piece of work in
15 days and 15 women can complete the same
work in 12 days. If all the 10 men and 15 women
work together, in how many days will the work get

completed? E E
(A) 6days b .
: El%

1
B) 65 days

© 6% days

()] 7% days

32, Theratiobetweenthe speeds of two trains is
7:8.If the second train runs 400 kms in 4 hrs, then
the speed of the first train is

(A) 70 km/hr
(B) 75 km/hr
(C) 84 km/hr
(D) 87-5 km/hr

33. Rajaji Raghati Biosphere Reserveis located
\ in which State of India?

(A) Uttarakhand @
(B) Himachal Pradesh & .
\ (C) Maharashtra [=]
‘ (D) Kamataka

34. Theprimenumbersdividing 143 and leaving
a remainder of 3 in each case are

(A) 2and 11
8) 11 and 13
(C) 3and7
(D) 5and7

SLA/23-A-1190081/05
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31. 105 <77 30 T 15 7F o9 FE 9R
15 o W% 9% «9g e 12 e oo ) 3

*
8 109 P76 15 T TReN G (B A, O
3 <wefi < o1 7@
* (A) 6fR
1
(B) 631’7?-\'
2
(©) 6§ﬁ_'i
(D) 7%11?—4

32. 16 G A STz 7: 8 | A fEem

LSl

@Al 4 9517 400 B, 39, O3 49w GEe siferas
(A) 70 /9% Eﬁg
B) 75 R/ =]
(C) 84 Bfi/<%r
(D) 87-5 Bl et

33, e S e Rers emes @
Ay SEFS ¢

(A) Teae
B) e eom

(C) w1
(D) ¥z

34, @ 5 Gl Mt i 143-F ol T

2ASTRG SloITIT 3 U2 ofd0
(A) 293211 E .
B) 114913 =]
©) 3487
D) 547
Please Turn Over
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35. Thegreatestnumber whichcandivide 1356, * 35, (w9 JZew WY M 1356, 1868 @t

186: and 2764 leaving the same remainder 12in J 2764~ wiot e eforsa ST 12 777
€4acin case 18

(A) 64 w6

: (B) 124
(B) 124 F] 0 (©) 156
g):; ;gg Tl (D) 260

36. Which is the highest peak in Andaman and 36, FaFfvele g @b s e FeRg

Nicobar Island? Riotofrerd A |2 '
O o, o0 =5 e =
010 -
(C) Saddle Peak (B) o5 fe =
(D) Mount Thullier © =
(D) MEB Y

37. Atwhattime between 9 and 10 o’clock will 37. 9B ¢ 10 G g I ST 6l wo ol

the hands of a watch be together? m . E] A T e
(A) 45 min. past9 h : (A) 9% @t 45 BB
(B) 50 min. past9 = (B) 9% cr= 50 ™G

(©) 9% @@= 491—11 LG

D) 9% @= 48% e

© 491—11 min. past 9

D) 48% min. past 9

38. Atwhat rate per cent of simple interest will 38. (A EEA 12 A e A, [T 77

REE SR EE JCECE E RUEE X R EECE R R R R R R R KRR R R R R R R R R R R RO E R TR CE X EGE TR

a sum of money double itself in 12 years? LEEERCE
(A) gL 1 E!
=7/ A) 8-% =
4 » % =
1 1
®) 85% B) 85%
© 8i% o1,
2 ©) SEA.
1 N
(D) 9% ®) 9%
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39. A motor car starts with speed of 70 km/hr 39, <=l @ e 70 B/ @l It o
with its speed increasing every two hours by I IR A4S @:‘mq@q o sifstas 10 /g%t
10 km/hr. In how many hours will it cover 345 kms? 3 ol | GIER SIS 345 Rt Tl wifvew vaTe
; :
A) 2— hr ' PO R (AT
A) 4 : E E 1 @-E
(B) 4 hrs 5 min = : @) 2 = |
1 k
(©) 4 hrs (B) 4 %%t 5 R [=]
(D) None of the above © 4% et
D) Coimg @R T
40, Who founded the University of Nalanda? 40. & 7e PREE ofedt srfeEme
(A) Samudragupta (A) Ayged
(C) Skandagupta
(D) Kumargupta I (©) wFred
(D) &% FHFeY

41. aﬁmmﬁw@a%wwa@wrﬁs

41. Inaclass, %th of the students are girls and

rest are boys, If %th of the girls and %th of the

G B iR | 3 Fiel 2968 % G IR QO
boys are absent, what part of the total number of g

e ST T, I G R e

students is present?
: o .
o i i gy
17 =
18 A) > [=]
(B) 49 .
. ) 18
(B —_—
23
©) > _49
23
23 © 3
D) 36 :
23
D) %

42. Market Control Policy had been first 42, TR SHTS @ =S YT A [z

introduced in medieval India by =iy WW&W .
(A) Itutmish @' E. (A) T
(B) Giyas Uddin Balban =
(C) Alauddin Khilji (= % ®) friefie <em
(D) Feroz Shah Tughlug (C) el R
(D) e iz geere

A BBAEKGBEAADRA R GEEBOEEIACIIITTISIOSTARRATTIBTITIRANRS SRR D N DD K kK

15 =]

Please Turn Over

[=l2[5]

SLA/23-A-1190081/07




SLA/23

43. Which is the smallest country in the world,
with an area of only 0-49 square kilometer?

A) M01.1aco E'- 0|
(B) Vatican k i
(C) Andorra =]

(D) Casablanca

44, The HCF of twonumbers is 8. Which one of
the following can never be their LCM?

(A) 24
(B) 48
(©) 56
(D) 60

45. A shopkeeper has a certain number of egps
of which 5% are found to be broken. He sells 93%
of the remainder and still has 266 eggs left. How
many eggs did he originally have?

(A) 3800 !Q &
(B) 4000 0]
(C) 4200

(D) None of the above

46. Which State does not share border with
Myanmar?
(A) Assam
(B) Nagaland
(C) Manipur
(D) Mizoram

47. Which State adopted the Three-tier
Panchayati Raj system for the first time?

(A) Rajasthan

(B) Andhra Pradesh
(C) Bihar

(D) Karnataka

SLA/23-A-1190081/08
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AU BEAABRBEALBAK RIS BOIRORCRARBCPOPOROSOORURNDRAEND D R AT R KK

=

43, g 0-49 IO TSt Revg FEew
™ (@52
(A) GITiCt
®) enibe
(©) witsat
(D) FRB!

4. 7% WYT A0, 8| AGI @D TR
WRYWBT A I A?
(A) 24
(B) 48
(C) 56
(D) 60

45, GG (MIFAWIET T @ sifse B =i
©lF 5% &l | IR g 93% R samm sim o
itz 266 6 T =[RS TS | A0 ol I Touf
o foee

(A) 3800 orao
(B) 4000 K '

(C) 4200 [=]
(D) ©oitz IR 7

46. TRReselm s @R b A
A AR TS AT 22
(A) ST
(B) sttenie
(C) sz
(D) TiretarT

47. @ A% dGRE Twdn dAvie® o

I dE FAe
(&) FERH [l
(B) S &
© Rem
(D) e
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48. Aoy @Ak R WS- TR 3
AL

(A) G I @I W ISR
B) =6 e @RI WIN T
(C) A TR G I

D) T GRR SfHEwRr @ JEs

48, Which of the following best describes a
‘bear market’?

(A) A market in which prices are rising
(B) A market in which prices are falling
(C) A market with stagnant prices
| (D) A market with high trading volumes
oD
=
\

49, A positive number, which when added to
1000, gives a sum which is greater than when it is
multiplied by 1000. This positive number is

49, I LT TR, IF AKX 1000 Fist T
isiEa FRYIH AL 1000 @8 T4 SIHEE (AF
0! W | (IS TR T

-

(‘(g; ; A) 1 I_E! [=]
B) 3 [=]
D) 7 D) 7

50. Who is considered the founder of
Renaissance Art?

50, @Rl e afsde! s Rugsa w3 e

. A) (GHIGET
(A) Donatello E, E. ((B; freral
(B) Giotto . 'E ©) TR
(€) Masaccio ©) e W fofds

(D) Leonardo da Vinci

51. A sum of ¥ 750 is distributed among A, B,

| Cand D in such a manner that A gets asmuchas B

| and Ctogether, B getsT 125 more than Cand D gets
as much as C. What is A’s share?

51. A, B, C'¢ D~93 9§ 750 5 GRS S5
T4l T5 TS A-9F g it B @ C~IF & BIFiq
@iSFEE TN @, B9 Aig B Cas (e
125 519t RM 27 33 D '8 C-97 2 Bt #{fsel

KEXBBAURDBEAXRBE . QIRBGEBAIAAOIATOTTBTROBAVTOROTIBR AR DR DR *HK

(A) 7100 I TF | A9 2l BIIT Sifae Fe g e
B) T225 .
©) T275 @) 1005 E E
D) T325 ) 225 i 15,
(©) 275t =155
(D) 3255
%&E_l Please Turn Over
O
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52. Thespeedofaboatinstillwateris 10km/hr. * 52, Brwmwe <t (e sifeme 10 BiyES
If it can travel 26 km downstream and 14 km I W ool ST T 26 B ¥R @S

Tlpsireammthe same time, the speed of the stream & o 14 B G T ST 0, Sl

. &) 2 e E4E ? nvon sl ey 9|
‘ ®) 25 knvhe Tkt (&) 2 Rl
1 (C) 3 km/hr = ®) 25 R/t
‘ D) 4 km/hr © 3R/
(D) 4Th/<w

53. Jamini Roy was a famous
(A) Producer
{B) Painter
(C) Dancer
(D) Actor

(A) Stones and Coins k

(B) Terracotta =35
(C) Coins
(D) Inscriptions

number of captains in the group is
(A) 70
®) 75
(C) 80
D) 82

SLA/23-A-1190081/10

54. Numismatics is the study of— ordo

55. A group of 1200 persons consisting of
captains and soldiers is travelling in a train. If for
every 15 soldiers there is one captain, then the

53. T T OFw [{Ure |

(A) s .
B) ooz g&%
© TRl =

(D) Sfeee

54, FCRmois = T SgT—
(A) #1978 @
B) e

(C) 3=t
D) M=

55, CRIFfSTR 1200 T 9T CTRORE BE
T F40 | W A0SF 15 & I &0 9F&H

HAKBEAKBEAANDPEA K ABEBRRPCCACACAITEIAETROTTITROOEARABRB RN DR

Fe] TO A2 .
(A) 70 .!.E] E!
(B) 75 [=]:
(C) 80
(D) 82
[l i [w]
=
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56. A man distributes ¥ 1,65,000 among his
daughter, wife and son in such a manner that % of
_tlllc daughter’s share, %th of the wife’s share and
Eth oftheson’s share areequal. Find the danghter’s

share. El IEI
(A) ¥ 15,000 =
(B) T 30,000 =]
(C) ¥ 45,000
(D) % 60,000

57. The concept of ‘Gig Economy’ is
characterized by

(A) Full-time employment with benefits.
(B) Short-termcontracts or freelance work.
(C) Government jobs.

(D) Traditional economy.

58. Which State has recently introduced a
comprehensive social welfare scheme named

‘yogyasree’? s
(A) Bihar EEI E]
(B) Jharkhand =]

(C) West Bengal
(D) Madhya Pradesh

59, Which institution has released gnidelines
for livestock telemedicine in India?

(A) AIIMS

(B) National Institution for Telemedicine
(C) NITI Aayog

(D) National Dairy Development Board

60. Who among the following is the winner of

LR RURGE B EURCE X RRAE ﬂ'&@'@*i&?%ﬂ'ﬁﬁﬁﬁf."."'.'ﬁ*‘%Q%ﬁ‘&?ﬁﬁﬁ@ﬁ*@##@‘%%#‘&@%*@@##*

=
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56. <3 I 1,65,000 5 ©F 0, § @ 2o
G W@@@MWI i R R e
Wﬁf 7 2 Srem L w"*i 8 +taq i B
= wwmw MWWWW?

(A) 15,000 1
(B) 30,000 Bt
(C) 45,000 51
(D) 60,000 B

57. ‘Pt R e R B
(4) ERRERE ORISR [a]
(B) =wai pie 1 Repim e
(©) =ifd vl
D) afegere LS|

58. (3R wEp TS b e wAwifer Fmid
2FH Al Bie] R
a) R=e
(B) dree
(C) ~fFose
(D) FHATH

59, (S dfovR oEce HoTw GRmRETE
T AT S FERe

(A) 9=

B) THAE TR T GEmeRH
(C) TS gt

(D) o 1 Tae @6

60. PR IfemaTes & 20249 SEvay

B R 204 s e T
O0T1 - 1
(A4) TR T :
(B) APT Abdul Kalam DA
(C) Pandit Ravi Shankar (B) «.F.c%. g T
(D) Shah Vikram Sarabhai (C) +Afés gfimg
D) s A=
m E Please Turn Over
.E
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61. The dance form called ‘Mohiniyattam’ is
associated with which State of India?

61. CURASIGN SIRUSA (i TR TS 2

(A) Kerala E E. (&) cwe
(B) Telangana E ®)

(C) Tamil Nadu (©) iy
(D) Kamataka (D) 5w

62. Whichofthefollowing Amendmentsallows 62. A6 I AU FNE TG AR

aconstitutional status to the Panchayat Raj system? T T TRuife it ;e Tmmme
(A) 71st Amendment (A) 71o% ol [l E
(B) 72nd Amendment @) 7279 S Nﬂ%g ;
(C) 73rd Amendment =] -
(D) 74th Amendment (©) 73w e .
(D) 749 et ;

63. In a mixture of a milk and water, the
proportion of water by weight was 75%. If in the
60gm mixture 15gm of water was added, what
would be the percentage of water? @R

63. I 7Y '@ TR PR Sutwe B 75%
e g | 3 60 ST €3 T 15 8 e Qe v
T SR g Rt xeqt 7 Ottt T A

&) 75% | (A) 75%

(B) 88% [=] (B) 88% .
© 90% (C) 90%

D) 80% (D) 80%

64. How much time does sunlight take to reach 64. A ST s (AleiTs 37 s st e

the Earth? @A) 8 RES
{A) 8 minutes
(B) 2 minutes ®) 276
(C) 4 minutes (C) 4T )
(D) 16 minutes D) 16 =6 .

65. Recently which Indian shuttlerwon thetitle 65. ST @ SIS ABHR Bonn

AAKREBA XD AAXBRA X TR RRARRACAATANATRTBARAOTBTOBAARDRED DR A D B % %K

of the Bonn International Tournament? GleEfeE Ao e o FEmEA?
(A) Aakarshi Kashyap :
(B) Ashmita Chalina (&) SRRt E%
(C) P.V. Sindhu ®) wfrel siffe D]
(D) Tanvi Sharma (©) Fife. B
(D) oS =

s

SLA/23-A-1190081/12
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66. A man in a train notices that he can count
21 telephone posts in one minute. If they are known
to be 50 metres apart, then at what speed is the train

travelling? (][]
(A) 55 km/hr A ;
(B) 57 km/hr =]
(C) 60 km/hr
(D) 63 kmv/hr

67. The Lonar Lake is located in—
(A) Tamil Nadu
(B) Maharashtra
{(C) Uttar Pradesh
(D) Odisha

68. 1—52- of which sum is equal to 3% of ¥100?

(A) :750 (=); E]
(B) T 800 .

(C) T900 =]

(D) 1000

69. Which of the following sports is related to
the Ezra Cup?

(A) Polo

(B) Tennis

(C) Lawn Tennis
{D) Cricket

70. An article was sold for ¥ 144. If the
percentage of profit was numerically equal to the
cost price, then find the cost of the article.

* ¥

AU BRXKDBAABEA A PRRBOR VANV ARSRORATTIRTTIEAN AR AR DR R AD DX

"
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66. 3 e G 9 99 7@ 1[G 21 6
ORI % @LTs “W | IW GRTeR Arbelm
TR 779 50 Foie 21, o Gay ot 5

feme .
(A) 55 /=t ;E EI
®) 57 R/t ==
(©) 60 fefi/a%!

(D) 63 Ref/a%

67. (NI (1% SAES T —
(A) wlfeFIg

(B) wFAF
(C) Teaeitm
(D) e

68. T© W%&m 100 B9 3% T
I TF?

(A) 750 =R
(B) 800 B
(C) 900 B
(D) 1000 G

69. AEH (i (4B G FieAT MR TRFw ¢
(A) A
®B) G
(C) == Gl
(D) fereas

70. &6 75 144 BioRt R oot 2 om xfewat
Feed ARYAW FI0F T AT AT ZH |

) %7 TR T TS I ? of E!
) (A) 725! =t
B) T80 ) 80%m | 0o
(C) 790 @
D) %100 (C) 90 TRt
(D) 100 Bt
m E Please Turn Over
E LY
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71. The2026 ICCMen’s T-20 World Cupwill * 71, 2026 Fiei =iz B i 6wy 520 Rtz
be jointly hosted by *

(A) India and Bangladesh

(B) India and Sri Lanka ,

(C) India and Pakistan [=] E!
(D) Bangladesh and Sri Lanka E .

72, If in a calendar-year, January starts with

Monday, how many Wednesday do you have in

January?

73-

(A) 6
B) 4
© 3
D) 5

Anasagar Lake is located in which one of

the following States? ordo

74.

with:

75.

(A) Gujarat & '
(B) Rajasthan =]
(C) Uttarakhand

(D) Karnataka

The term ‘Orographicrainfall’ is associated

{A) rainfall caused by cyclones.

(B) rainfall caused by warm air masses.
(C) rainfall caused by mountains.

(D) rainfall caused by convection currents.

Goods and Service Tax council (GST) of

India is headed by

A-14
¥ T CHEE T T 46 (P2 E¥E
(A) O @ IR k i
B) T ¢ Hers [=]
(©) ©i9% @ AiFe

(D) AT @ S

72. 9 GIH FWESR-ILA GEIE oF [
GRS, SRGE TRRIETS Fouf J4R1E wiE?
(A) 6
(B) 4
© 3
(D) 5

73. SHFIAE g7 (I A0 SaiEe ?
(A) @R
(B) qr&g«
(C) Temide
D) o=

74. SRR RIS (T I AN T 3
(A) IFRTTS IR R s
(B) T Te It IRoMS
(C) T FI0H 38 IRt
(D) 5o @& =it 7B JRsife

75. ORCST #iy ¢ @A TN AR T90e
EleileT]

AAABBAXLTBAFIBBAX BRI IABRNITIATNTCIAATICRRRGBAAABATSAADRERANEBAFER

e _—
mance vimister k
(C) Finance Secretary B) R =
(D) Speaker of Lok Sabha (C) wdde
D) EiTed gl
[=] 5 =]
ok
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76. How many Fundamental Duties are * 76, ©igen WE[yic <t GiFe seme S
mentioned in the Indian Constitution? : D
(A) Five m' E (A) 911"5
(B) Seven - k ! (B) e
(C) Nine =% © =
(D) Eleven D) (q'qm

77. AandB investinabusinessintheratio3:2.
If 5% of the total profit goes to charity and A’s
share is ¥ 855, the total profit is

(A) ¥1,425

77. 430 ST TFUT A @ B9 TWER
WA 3:21 I (WG FCST 5% W Fh W 9R
A~ SfIRe 855 Bl 2H WLF, GIib =7l 3

(A) 1,425 Bt E¥E
(B) ¥ 1,500 |
(C) T1,573-50 B) 1,500 Gt k
®) T 1,575 © 1,573-50 1t [=]

D) 1,575 5t

78. W6 FRYIF 4T 7| AUl AW 12 T
B FH (T TG 7B He Lt sl T O 918 2=

78. The average of ten numbers is 7. If each
number is multiplied by 12, then the average of the
new set of numbers is

(A) 7
(A) 7 B) 19
g ;3 ©) 82
(D) 84 ®) 8
79. What is Argentina’s currency? \ 79. SiEoRI 7 [e
(A) Dollar E E: (A) T
(B) Kroon -E B)
(C) Peso © ???IT
(D) Sol
(D) &

80. Bhitarkanika National Park is located in 80. foosaiia o B (I it S1fEs?

KA XRDEA AP AALBA X BRI SRVEEATAITTATTINCARAIRAIVNTRTOIAARDAANRRAXD R

which State? i .
(A) West Bengal EJ;; g E Eu
(B) Bihar i =]~
(C) Odisha (©) e [=l=%
(D) Uttar Pradesh D) TezaTm

%ﬁg

Please Turn Over
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81, If a bucket is 60% full, then itzconta'ms * 81, GBI 46 % o, B AT G AR
. . 2,
4 htre.s more watf:r than when it is 46=9% full. e — 4700 & @R 2
What is the capacity of the bucket?
60% ©f% T | IFFeDT T@dtaed Fwe! o ¢

(A) 30 litres
(B) 15 litres (A) 30 &6 ard0|
©) 16% Titres (B) .15?‘3'?‘ Ik
(D) 20 litres © 1651%1%1-&'

D). 20 s

82. Who wrote the book ‘Life Divine’? 82. ‘Life Divine’ 9370 & Bzt ?

(A) Swami Vivekananda (A) TN Reasiaw

E(Bg Eesh}a)l.) gha(l}lsra hSen B) O G
urobindo Ghos e

(D) Swami Dayananda Saraswati Es; “aﬁ W:i: N

83. Theaverage of the first nine prime numbers 83, =y Tl G WU oo =@

18

AXXBEAKBRAALI UK PR ERACITIATIITIAINTAROBNSOTOITRXTBA DD RRD DR ED D XK

& (A) 9
A9 @ o ®) 11
®) 11 ] ]
T ©) 11=
©) 116 9
_ 2
2 D) 11—
D) 11= 9
9
84. Who of the following is associated with the 84, FRRegS ey FEITT AR
musical instrument called Sarangi? MR 7E? af
(4) Amjad Ali Khan (A) ST ey A El%
(B) V.G. Jog -
(C) Buddhadeb Das Gupta ®) f3. . et
(D) Binda Khan €) Tavr e
(D) =t
EIRE
Ey

SLA/23-A-1190081/16
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85. ‘National Nursing and Midwifery
Commission Bill’ is associated with which Union
Ministry?

(A) Ministry of Health and Family Welfare
(B} Ministry of Home Affairs

(C) Ministry of Women and Child

Development
(D) Ministry of Science and Technology
]

=]

86. When was FIFA founded?
(A) 1900
(B) 1904
(©) 1920
D) 1930

87. A fan is listed at ¥ 1,500 and a discount of
20% is offered on the list price. What additional
discount must be offered to the customer to bring
the net price to ¥ 1,104?

(A) 8% D} 40
@) 10% z

© 12% =]

D) 15%

88. 2 men and 7 boys can do a piece of work in
14 days; 3 men and 8 boys can do the same in
11 days, Then 8 men and 6 boys can do three times
the amount of this work in

*

AAXKBZEAABBAANEBA A IR BN ATATAIACAARARNBAATETTTIBK AT RAAR AR B AN

-
B o

85, “oieE PR S eenREfs simm fer
(I (TR WA A LT ?
(A) FF e AT Tuld TR
B) TG S aran|
(C) et @ e Braw TEAe B ;
(D) R @ efgfe TEEw *

86. w3 st =me
(A) 1900
®B) 1904
(©) 1920
(D) 1930

87, <<% WEI FET 1,500 Biwl @R 63
4RAIETE Toi9 20% T (SN = | GHHIT TO0!
wfbfire 9o e ¢2 welh aem el 1,104 51T
o e @o A

(A) 8%
(B) 10%
(C) 12%
D) 15%

88, 2 T (1T € 7 & qFF I I 14
A0S 7T 22 3 T (RIS @ 8 Tl N0 63 TR BT
11fRG 9 T | 8 T FIIF @ 6 T T €2 IR

(4) 18 days femad siw wefte ofF Fa? af E]
(B) 21 days *) ISE o}
(C) 24 days (B) 21
) 30 days ©) 24F
(D) 30T=
n,m (=] Please Turn Over
(=]
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89. ‘Operation Sarvashakti’ recently seen in * 89, Hyrife=s It B3 WA Weticiny ™

the news, was launched by which armed force?

=
O]

90. Who was the first women President of the

(A) Indian Air Force
(B) Indian Navy

{C) Indian Coast Guard
(D) Indian Army

Indian National Congress?
(A) Sarojini Naidu
(B) Annie Besant
(C) Neli Sengupta
(D) Aruna Asaf Al

91. The least perfect square number divisible

by3,4,5,6and 8is
(A) 900
(B) 1200
(©) 2500
D) 3600

92. Which country hosted the ‘World

Environment Day 2024'?
(A) Saudi Arabia
(B) Russia
(C) India
(D) Australia

93. The value of 999%x 999 is
999
(A) 990809
(B) 998996
(C) 998999
(D) 999824

SLA/23-A-1190081/18

=]

: A I FIRAl gl oF T TEEe

90, SITOT TSI FLAH 2 WEZe oS ¢

fEme .
(A) RIS wiRg E@
(B) SOl (11w [=]

(C) et cmag
(D) S ST S

91. 3,4,5,6'¢ 8 fix Retey Taen ojfasf e
ES
(A) 900
(B) 1200
(C) 2500
(D) 3600

92, (S O 2024 ATE R wifde Wer-ag
WGE IR 7
A) cifr=Rg
(B) A
(C) ©F®
(D) wgFm

995
93- —_— % »
9990 990 x990 99 v T[F E m

(A) 990809 O]
(B) 998996
(C) 998999
(D) 999824

EUUBEAEKBRBAABRE AKX PR B RARR AT TIAIRINRARARTOIARONSK AP OARABERRND D

o
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94, % of a tank holds 135 litres of water. What

part of the tank is full if it contains 180 litres of
water?

(A)
(B)
©

D)

i W Wi oy =

95. Which one is the important macronutrient
for the plants?

(A) Nitrogen

(B) Manganese -E
(C) Copper

(D) Chlorine

96. A number reduced by 35% becomes 325.
What percent should it be increased so that it
becomes 650?

(A) 25%
(B) 30%
(C) 35%
(D) 45%

97. What is the capital of Nigeria?

(A) Algiers E' E] (A) wierre
(B) Abuja -E : (B) =@
D et © e
(D) =ReAIR
E E Please Turn Over
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L X R A kAR R XX 2-X-X-2- -2 -2 K- X-R- 8- R-5 L & X Rk B 3 R K R A Rk

94, mm%wmsﬁmwmmﬁ

Orabce 180 0 o Ao, ©igE TiEhd F7o Tt
T ©fS AP

1 o
&% =
1
® 3
o 2
© 3
2
D) 35

95, Tfera w1 SENTIR  A|fECstiniN

(macronutrient) 2
(A) RGeS
B) e
(C) ==
(D) W

96. 4B TRAT 35% T oI R 325 =W
e >l e T FO 2= A 650 TA?

(A) 25% .

(B) 30% E‘_E_] (=l
©) 35% O]

D) 45%

97, ARCERAR ATHR D12
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98. When oneevent brings about anotherevent,
it is known as:
(A) Correlation E] [i_”]
(B) Comparison by ’:"'1:
. oy El"r'{:
(C) Causation el

98. T G W01 HIFH Toe7l fvea W, O
«ft e 73 ¢ | ) E] E]
(A) =NF=EF T1F !
(B) T El..-.ﬁ:
(C) wfaras
(D) Fhfe

(D) Association

99. Parkachik Glacieris located in which State/
U.T.?
(A) Arunachal Pradesh
(B) Ladakh
(C) Jammu and Kashmir
(D) Sikkim

99, o Bz @F AW / U.T.@ saEe
(A) SFeoe 2raf
(B) wtar=
- El£
(C) &9 € =M o
(D) i EJ.:E

100. Lek is the currency of which country? 100. & (@ (09 9 ?

(A) SIGEIRSI
(B) Sgicsle
(C) Zrwitafa
(D) S

(A) Azerbaijan

(B) Angola E]!f"l,

(C) J_I]dOnf:*.Sia EJ-:E
(D) Albania

i e SRR R e RoRe oKX RN RUR - RUTK - o B BT R RE I ORI e e e g gt

(32

AT EANRD DR HDD R %O

&
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T OPEN T T YOU A KED TO N
2023
TEST BOOKLET
English, General Studies and Arithmetics
Time allowed : 13 hours
Full marks : 100

Answer all the questions.

TEST BOOKLET SERIES

Questions are of equal value.

Serial No. 1190090 Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answer. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Change the voice:

The guard refused him admittance,
(A) The guard refused to let him in.

(B) Admission was not granted to him by
the guard.

(C) He was not admitted by the guard.

(D) He was refused admittance by the
guard.

2. Insertthecorrect prepositioninthe following
sentence:

He acceded
(A) for
(B) of
(©) on
(D) to

my request.

3. Complete the sentence with the correct
preposition:

The customs were searching

drugs at the airport.

(A) for
(B) on
(C) in
D) at

4. Which of the responses is correct for the
statement?

I like ice-cream.”
(A) SoamL

(B) Sodol

(C) Soldo.

(D} Ialso like.

5. What kind of a sentence is the following?

way.

The moon was bright and we could see our
OE0)

s

(A} Complex sentence
(B) Simple sentence

(C) Compound sentence
(D) Exclamatory sentence

6.

7.
verb:

wish.

9‘

10.

(U EKBDUABDEABSBEAR GRS ENNEIGRTOCBTIEROBICIBYIBEBABARNDIR RS H AR DS * KN E

i

SLA/23-B-1190090/02

Study the following sentence:
Come and meet me in my office.
What part of speech is ‘me’?

{A) noun

(B) adverb Eﬁ[ﬂ
(C) pronoun m
(D) modal verb

Fill in the blank with the correct modal

The online store informed that we
cancel the order we placed, if we

(A) shall
(B) would
(C©) will
(D) can

Replace the underlined word with the

appropriate idiom from those given below:

He listened when his boss spoke.
(A) heard carefully

(B) paid his ears

(C) gave his ears

(D) was all ears

[=]

(=]

0

Choose the correct alternative:
The car broke down and we

get a taxi,

(A) haveto
(B) hadto
(C) must

(D) gotto

Fill in the blank:

Hecould not to see his brother

in any kind of distress.

(A) bare
(B) beer
{C) bore
(D) bear



Beetl o

16. Lifeis as tedious as a twice-told tale— The
figures of speech used in the sentence are:

(A) Metaphor and Alliteration

(B) Apostrophe and Hyperbole

{C) Simile and Alliteration

(D) Alliteration and Personification

=
&

11, An ophthalmologist deals with
(A) matters of the brain.

(B) diseases related to the respiratory
system.

(C) diseases of the eye. E|§E|
(D) a particular skin disease. Eﬁ

17. Change the following sentence into an

Affirmative one:
This story is incomplete.
(A) This story is not incomplete.
(B) This story is complete.
(C) Completeness is there in this story.

12. Replace the underlined verb with the
appropriate phrasal verb from those given below:

The building was demolished last year.
(A) pulled down

EERETRETELEAEEABBEED D & DD %KX

(B) turned down (D) This story is totally complete.
(C) gone down
(D) made down
18, Fill in the blanks in the following sentence
with the appropriate words:
Aman live satisfactorily
L. . .. he does at present half his
13. The ad_]ect.ive form of the word ‘Glory’ is present income. Eg E
A Glor.md (A) could, very, as, by %
(B) Glorious (B) can, as, as, on (=

{C) Glorification
(D) Gloriously

{C) would, as, like, with
(D) will, very, since, by

19. He replied that he worked whenever he
liked— This is a/an

14. The feminine gender of Drone is
(A) Simple sentence

(A) Duck

(B) Bee - . (B) Compound sentence
(O Filly Eﬁ (C) Complex sentence
(D) Doe (D) Exclamatory sentence

20. Replace the underlined verb with the
appropriate phrasal verb from those given below:

The plan did not succeed. Eg O]

(A) come on
{(B) comein z@%

15. A synonym of the word ‘Equivocal’ is
(A) Ambiguous

I
AU BDAEKDBEARERAK GBI ERFAITITTTITROEDHO

®) Equal

{C) Clear (C) come along

(D) Vocal (D) come off
E E Please Turn Over
Ok
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21. What is the most appropriate passive form * 26, A of wolves. (@] 7w}
of the following sentence: (A) herd %
The mason is building the wall. (B) colony [=:
(A) The wall is being built by the mason. (C) drove
(B) The wall is been build by the mason. (D) pack

(C) The mason build wall.
(D) The mason is built by the wall.

22. Replacetheunderlined portion withanidiom 27. Replace the underlined verb with the

from the list below: appropriate phrasal verb from those given below:
He got himselfinto trouble by interfering in He has guarrelled with her.
his neighbour's affairs. Egjm (A) fallen in
(A) strained every nerve *ﬁ (B) fallen out
(B) fook to heart f=l: (C) fallen over
(C) out of spirits (D) fallen down

(D) burnt his fingers

23, Replace the underlined verb with the
appropl:iale phrasal verb from those giVCIl below: 28. They are men of like build and stature. In

this sentence ‘like’ has been used as a/an
(A) Adjective

1 have stopped smoking.
(A) giveninto

(B) givento (B) Noun
(C) givenup (C) Preposition
(D) givenon (D) Adverb

24. Fill in the blank:

The half of the play was
uninteresting. Elﬁlil 29. Change the voice:
(A) later oA, All his friends laughed at him.,
(B) latter ‘%ﬂ% (A) He was Ianghed at by all his friends.
(C) latest (B) His friends laughed at him,
(D) late (C) His friends were laughing at him.

(D) He laughed at all his friends.
25. Replacetheunderlined portion with anidiom
from the list provided below:

I begged him to reconsider his decision but

he refused to yield.
(A) took to his heels

(B) put his foot down
(C) turned his head
(D) took to heart

30. Anantonym of the word ‘Magnanimous’ is

(A) Selfish w3151

(B) Generous m

(C) Courageous
(D) Ignoramus

HAABHFAAETBAANDBDEAXR TERTIETAIAEOTITOIATISIDERABDENETERNREAARDTRERABTEAR ARG RR

%E
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31. A fan is listed at ¥ 1,500 and a discount of *‘
20% is offered on the list price. What additional

discount must be offered to the customer to bring

the net price to T 1,104?
(A) 8%
(B) 10%
©) 12%
D) 15%

32. Which of the following sports is related to

the Ezra Cup?
(A) Polo
(B) Tennis
(C) Lawn Tennis
(D) Cricket

33. The HCF of twonumbers is 8. Which one of
the following can never be their LCM?

(A) 24
(B) 48
(©) 56
(D) 60

34. Who wrote the book ‘Life Divine’?

(A) Swami Vivekananda
(B) Keshab Chandra Sen
(C) Aurobindo Ghosh

(D) Swami Dayananda Saraswati

35. A group of 1200 persons consisting of
captains and soldiers is travelling in a train. If for
every 15 soldiers there is one captain, then the

number of captains in the group is
(A) 70
® 75
(C) 80
(D) 82

SLA/23-B-1190080/05

GIHE

2

[HH[x

HEE:

AUKBREABBAK DR UK QR BIPVOIRAITITCTBFIARAABDABLRAEAENTRAN D B * K

%ﬁﬁ

Bee? s

31, @3 Wi GFE 1,500 SRt @R €%
W%ﬂazo%mmmwaavﬁm

(A) 8%
(B) 10%
(©) 12%
D) 15%

32. I (W Ao T P AL A Ew ¢

@A) e [ 5]
@) &Fm B
(©) 7= G

(D) fe=o

33. ¥t YT A2, 8| BT @D FIFR
YO ALY, I 2

(A) 24
(B) 48
(C) 56
(D) 60

34. ‘Life Divine’ 9230 (& FrawEa?

(A) T Ry Op10
B) FDF gﬁ
(C) = G =

@) T 7@ FTFS

35, RS2 1200 ST S0 0% G
! A | 4 S 15 & A S GG
A NS e AR, O3 SR e GOl oo
e TS TI?

(A) 70

®) 75
(C) 80

(D) 82
Please Turn Over
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36. Theaverage of the firstnine prime numbers %

is
(A) 9

® 11

1
© 115

2

D) 11—9'

37. Who among the following is the winner of

Bharat Ratna in 20247
(A) Karpoori Thakur
(B) APJ Abdul Kalam
(C) Pandit Ravi Shankar
(D) Shah Vikram Sarabhai

38. In a mixture of a milk and water, the
proportion of water by weight was 75%. If in the
60gm mixture 15gm of water was added, what

would be the percentage of water?
(A) 75%
(B) 88%
(©) 90%
(D) 80%

39. RajajiRaghati Biosphere Reserveislocated

in which State of India?
(A) Uttarakhand
{B) Himachal Pradesh
(C) Maharashtra
(D) Karnataka

40, What is the capital of Nigeria?
(A) Algiers
(B) Abuja
(C) Lagos
(D) Nairobi

SLA/23-B-1190090/06
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50

Eym

G

E XX FORORE E RRCE X RE R W R R R X R R R K R K R R R RCR e R e R R R R R K R R

)

E n

36. =t T GMFE RoR ez EH[E
G
®) 1 )

1

(© 116

[

2
@) 11'5

37. FeFRegfemaes & 20245 Cigeory

I #S TCACH ¢

(A) TR o

B) «.ft.ca. s T
(©) e afmmg

D) R ey

38, 5 ¥ 8 WETR PR SoR REd 75%

B WiCz | T 60 Sl 9 et 15 o & et |t
Y O YA PR *oFdl T ©f9l U5 Y7

(A) 75%
(B) 88%
(C) 90%
(D) 80%

39. IRy A AP o eures @W

Hes SR ?

(A) Tedide
(B) featwe 2o
(©) ==}

(D) 6=

40, SECSRAT e e GEIX[E]

(A) =R &*5%

(B) =g
(C) st
D) Wi
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41. Which State does not share border with
Myanmar?
(A) Assam Egm
(B) Nagaland m
(C) Manipur
(D) Mizoram

42, The greatestnumberwhich candivide 1356,
1868 and 2764 leaving the same remainder 12 in
each case is

(A) 64
(B) 124
(©) 156
(D) 260

43, ‘National Nursing and Midwifery
Commission Bill’ is assaciated with which Unien
Ministry?

{A) Ministry ofHealthand Family Welfare
(B) Ministry of Home Affairs

{C) Ministry of Women and Child
Development

(D) Ministry of Science and Technology

44, The average of ten numbers is 7. If each
numberis multiplied by 12, then the average of the
new set of numbers is

A) 7
B) 19
(©) 82
(D) 84

45. ‘Operation Sarvashakti’ recently seen in
the news, was launched by which armed force?

(A) Indian Air Force EIH[E

(B) Indian Navy Eﬁ

{C) Indian Coast Guard
(D) Indian Army

5
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41. FeEReIEraFE Iy @ awba RN
R AT AAE FE R 2

(A) =AY
(B) A<EniE
(C) XMz
D) Tt

42, P T WA @ 1356, 1868 4=
2764-( il a0 YT ST 12 9 ?

(A) 64

(B) 124 E_!ﬁli_l
(C) 156 Eﬁ
(D) 260

43, e AR S Beenite aiwm e
(I (TG T I TS 2
(A) TF S Al T T
(B) ¥4 Wi
(C) et @ Mo Txge e
(D) Re ¢ 23 wgeiem

44, vl TRYIF 91T 7 | vl WS 12 fra
& I (T TP I AT+t T O 518 1

(a) 7 OkD
®) 19 h'%
© 82 =
(D) 84

45, AT I B WP AR TR
I T IRA T v T @R
(A) wigon Raw afza
®) oEeT -
(©) oo Toigeardl ARA
(D) SR9w EFRIRA

Please Turn Over
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46, Atwhattime between 9 and 10 o’clock will : 46, 918 10 B1g W&G & AN €T 7% FO!

the hands of a watch be together? E ﬂE * G AT
(A) 45 min. past 9 :,% (A) 9! T 45 TG
() 50 min. past 9 I=l: (B) 9% e 50 R

1
— min. t
(©) 4977 min. past? (©) 9% cIem 49% RFS

(D) 481—21- min. past 9 2

(D) 95 @ 4sﬁﬁﬁ%

47. Atwhatrate per cent of simple interest will 47, I Eiee 12 T=id fRad g, R ==

a sum of money double itself in 12 years? A QT FO? E E
(A) slo 5l gﬁ
8% ) 8% OF
1 1
(B) ,85% B) 8%
© 81y 5
%3 () (&) 85%
1 1
D) 95% ™ 9—2-%

48. Theratio between the speeds of two trainsis 48. 7 Gz s egAe % 7: 8 1T ey

7:8.If the second train runs 400 kms in 4 hrs, then (Glb 4 9517 400 561, 217, g 24w G sifews
the speed of the first train is
") Tokmie = o0
(A) 70 fy/=%t %
(B) ;’iﬁ ®) 75 RRy/<H E=:
((3 I (C) 84 Bfi/=%t
D) 87-5 /%

49. Theprimenumbersdividing 143 andleaving 49, @ gE CNfers IRP! T 143-F Sl T

AU BREAREBRAEAER A BEPEIITAROIAATBTRRTRAREIRBOGEBAARBEAABIBAAIEAAND R

aremainder of 3 in each case are Eﬁ@ sfSrreg Seg 3 S ?
(A) 2and 11 E : (A) 29211
(B) 11 and 13 : (B) 1193213
(C) 3and7 (C) 397
D) Sand 7 (D) 597
=] Rj =]
o
[E]cxR
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50. A sum of T 750 is distributed among A, B, * 50, A, B, C'S D@ W& 75051 queig o4
C and D in such a manner that A gets asmuch as B : Fq T ATS A7 i Big! B @ C~a9 e Biwig
and Ctogether, B gets¥ 125 morethanCandDgets g cptstwpreig ot o, B-97 A 519 C-97 (A
as much as C, What is A’s share? E]ﬁEl B 1255/t @R T 99} D 8 C-4F #iiel BIt ~Afawie

(A) 100 EI% ¥ R | AT 2 Bt AR S e
om R am T e
@) 225
D) X325 (C) 275 %= =]
(D) 325 T/

51. Which State adopted the Three-tier 51, (i [T d9NdE -y dwafs o

Panchayati Raj system for the first time? [T AT FE?
. (A) Rajasthan (A) e
(B) Andhra Pradesh (B) SEmaTe
(C) Bibar ) f=
(D) Karnataka ¢ '
D) ¥

52. «3fb G % St 135 61 & 4t 13

52. % of a tank holds 1335 litres of water. What
Bi1Eiore 180 6 o4 Qs Oige UiEfiy vo wot

part of the tank is full if it contains 180 litres of

water? oo ©f6 e .
(A) 1 (A) 1 Elﬁ[i]
g E S
1 1
) 3 B) 3
2 2
. © 3 © 3
2 2
D) 3 D 3

53, Numismatics is the study of— EIﬁEI 53. FHERwroRs == 39 SyTe—

AEXBEAAXZREAAXYEA AN AER ROV CANTVTIRORENPRARRABIRAEARDRARD R

(A) Stones and Coins (A) 4T e |
(B) Tel:facom E-E (B) Cgﬂ@gﬂﬁ
(C) Coins © W

(D) Inscriptions @) Ferfit

Please Turn Over

e
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54, The least perfect square number divisible
by3,4,5,6and 8is mgm
(A) 900 oy
B) 1200 %ﬁ
(C) 2500
(D) 3600

55, Theterm ‘Orographicrainfall’ is associated
with:
(A) rainfall caused by cyclones.

(B) rainfall caused by warm air masses.
(C) rainfall caused by mountains.

(D) rainfall caused by convection currents.
56. Goods and Service Tax council (GST) of
India is headed by
(A) Prime Minister
(B) Finance Minister
(C) Finance Secretary
(D) Speaker of Lok Sabha

57. How much time does sunlight take to reach

ey & minte 1=
minutes :
(B) 2 minutes %
(C) 4 minutes
(D) 16 minutes

58. Inaclass, %th of the students are girls and

rest are boys. If %th of the girls and :]i-th of the

boys are absent, what part of the total number of
students is present?

17
25
18
49
23
30
23
36

(A)

(B)

©

(D)

EE R SRR R ECEE X TR R - R R R R R R R R R e R - R - Bt - AU R R R R S Bl AR R

B-10

54. 3,4,5,6's 8 T Rroten Fwew sy e
B
(A) 900
(B) 1200
(C) 2500
(D) 3600
55, ‘SIS qRele’ i Ta Ml T 3
(B) & Qe i JiRsiie :.%
(©) tren P B Bt [
(D) #AfEe Gl Tt 978 R

56. ey A ¢ AREa w9 AfRT™ @9
I
(A) 2R
(B) W
(C) ST
(D) TR R
57, S S SRS Afite F© W wAis?
(A) 8 BFG
@) 2R
(©) 4G
D) 16 TG

58. 37 PICT G DI % T gl @ Jif
oo g S| IR FIE gEE % G G2 BT

%wwoﬁww,wmﬁﬂm@ﬁwww
L ECAEGE A
(A) % Elﬁ

18
® 2
o2
© 30
23

(D)g

e
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59. A shopkeeper has a certain number of eggs
of which 5% are found to be broken. He sells 93%
of the remainder and still has 266 eggs left. How

many eggs did he originally have? E]ﬁm
(A) 3800 ‘.—'ﬁ
B) 4000 [=];
(C) 4200
(D) None of the above

60. A motor car starts with speed of 70 km/hr
with its speed increasing every two hours by
10 km/hr. In how many hours will it cover 345 kms?

(A) 2% hrs
(B) 4 hrs 5 min
1
C) 4— hrs
© 4

(D) None of the above

61. 10 men can complete a piece of work in
15 days and 15 women can complete the same
work in 12 days. If all the 10 men and 15 women
work together, in how many days will the work get
completed?

(A) 6 days (=% =]

s

(B) 67;- days

()] 6%- days

D) 7§days

62. Whenoneeventbrings about anotherevent,
it is known as:

(A) Correlation
(B) Comparison
(C) Causation

(D) Association

SLA/23-B-1190090/11

L RCRUE R E R R R R R R R R R R XX R R R R R X R R R R R KRR R R

Beetl o

59, T MIPFRITET FtE @ ~ifEwd &% =ity
oK 5% ©ret| I B 93% [T sl sm om
Ptz 266 6 v oS L | el ol Fie Foul
R fme

(A) 3800
(B) 4000

(C) 4200 oRO
(D) Bl IR W e
S

60, << 5T sife 70 Refy/=H @est Tt w
IR qR &S 7ES ST o aifSRe 10 Ry
& =i crioe e 345 R at s Fare
TS AW (I ?

(A) 2%%‘!
(B) 4Bt 5 BifG
(C) 41'@1

2
D) ToArEa @EHE

61, 107 4F7 a6 e 15 e 007 T 9
15 & WEE 6% g w12 T o | TR
10 &9 477 8 15 T el Gaeq FIEi $0F, O1
ol PIEh O TI?

(A) 6=
(B) 6%1‘?‘-{
2
o) <
().6311?—-{
D) 7%%{

62. T4 GH6 o1 STHDB W61 N i, oL
4 Ao = 2

(A) sEiEs T @ﬁﬁl
(B) e [w]:
(€)
(D) #ffs
Please Turn Over
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63, When was FIFA founded?
(A) 1900
(B) 1904
(C) 1920
(D) 1930

64. Market Control Policy had been first

infroduced in medieval India by
(A) Itutmish
(B) Giyas Uddin Balban
(C) Alauddin Khilji
(D) Feroz Shah Tughlug

65. Jamini Roy was a famous
(A) Producer
(B) Painter
(C) Dancer
(D) Actor

66. The value of 999—X999 is EI@EI

(A) 990809 %

(B) 998996
‘ (C) 998999
| (D) 999824

67. Lek is the currency of which country?
| (A) Azerbaijan

(B) Angola

(C) Indonesia

(D) Albania

SLA/23-B-1190090/12

[=
i
=

B

AR KBEARADBEAEARTRAAREBEEIVCRTINRXSTIBSIAFEITRLIGAAECABEAPEA AR RAXRE L
¥

[=1%[=]
=]

63. ol I ARz
(A) 1900
@) 1904
(© 1920
(D) 1930

64. TR ST (T *IFT AN @ TREH
NS iy, Al 7

(A) T

@®) Fameim R
(C) SeeE Refer

D) e 2 o

obg)
Gk

65. TR T wFE= Rgre .

(A) dEE<s
(B) foaex

(©) TR
(D) SiSre!

995
66. 999 x 999~ I TA
(A) 990809
(B) 998996
(C) 998959
(D) 999824

67. FF (BN (09T |2
(A) SEEIRE
(B) SyiCaRIet
(C) Zrwicaia
(D) wEaFat

5
ad
=
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68. A andB investinabusinessintheratio3:2.
If 5% of the total profit goes to charity and A’s
share is ¥ 855, the total profit is

(A) 1,425
®) 1,500
(C) ¥1,573-50
D) ¥1,575

69. Which one is the important macronutrient
for the plants?
(A) Nitrogen Eﬁm
(B} Manganese Eﬁ
(C) Copper
(D) Chlorine

70. The speed of aboatin still wateris 10 km/hr.
If it can travel 26 km downstream and 14 km
upstream in the same time, the speed of the stream
is

(A) 2 km/hr
(B) 2-5km/hr
(©) 3 km/hr
(D) 4 km/hr

71. A positive number, which when added to
1000, gives a sum which is greater than when it is
multiplied by 1000. This positive number is

A) 1
B)3
© 5
o 7

72. Recently whichIndian shuttler won thetitle

3*

¥ AXPREADBAARS AKX CREEIREAVNRATIVAARTIITEITTIERPIRROEARABEAABRBRAB D X

Beet o

68, I AT JFI A @ B-99 T
e 3:21 A% (IS TSR 5% WN TR T 9 R
A~ TSI 855 Bl 24 O, (G =S A

(A) 1,425 5t

(B) 1,500 ot E_!ﬁli]
(©) 1,573:50 B glilﬁ
D) 1,575 5

69. Tfetie Tl woRTRE  7RedmE
(macronutrient) ¢
(A) TRET
®B) EfE
(©) ol
(D) &fR=

70. e % e aforast 10 R/
M T @ie SFE 26 Bl 932 @it
oS 14 [/ =2 W wfoaw i, o
@es sferast ffa

(A) 2 R/
®) 25 R/l
(©) 3 "R/
D) 4=f/ 9w

71, G LS AW, TF I 1000 @9 T
et AL AT 1000 @ T wITEE R

0T T | YT TRYIH 2= @g@
A) 1 Ty
o (e
O35
D) 7

72, 2fSTTIE @IH ©FelF Abed Bonn

of the Bonn International Tournament? SiSEifes AfEPeT o & FEEA?
(A) Aakarshi Kashyap -
(B) Ashmita Chaliha E.!ﬁ (A) S et
(C) P.V. Sindhu tlilﬁ B) wfre! sife
(D) Tanvi Sharma () At g
(D) oS =ff
E%E Please Tarn Over
O g
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73. Whichis the highest peak in Andamanand * 73, FigfFRewkE g @b S ¢ R

Nicobar Island? mg * %"H\Z@ﬁ .
" (A) Mount Koya =3 (A)'cmﬂﬁﬁm
(B) Mount Diavolo E%
.(C) Saddle Peak B) Wes fzieieEn
(D) Mount Thullier (C) teet &
(D) S erE

74. The 2026 ICC Men’s T-20 World Cup will 74, 2026 At iR B B G 5-20 Revameeta

be jointly hosted by T SIS T R 5 o2 Egm
(A) India and Bangladesh - ]
(B) India and Sri Lanka ((:; W:iﬂ‘ o El
(C) India and Pakistan 28 sliﬁl :
(D) Bangladesh and Sri Lanka (C) ©IFe @ AP
(D) IHTE 8 Feis

75. Which of the following best describes a
‘bear market’?

75. A®BI @D R ME-F syafex st
AL

(A) <36 AT QA 0T ST
B) <= T R ¥IF IR
(©) 29 TR 93l I=E

D) T G etz 3l IE

(A) A market in which prices are rising
(B) A market in which prices are falling
(C) A market with stagnant prices

(D) A market with high trading volumes

B3
e

76. If in a calendar-year, January starts with
Monday, how many Wednesday do you have in
January?

76. ¥ @3 WreR-ITa wEl o =@
G, Ol wieEiEee Toaf 343w wim?

AAUDBARBREAUKBEIAKR IR EEPARIVATTARTARITNBTINTRARRROGAABRBARRBBARAED®

(A) 6 okd0l
o 2
© 3 [=]:
© 3 ©) 5
® 5
I
E ==X

SLA/23-B-1190090/14
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77. An article was sold for T 144, If the * 77, <op g 144 5i9E Rifer s A oot
percentage of profit was numerically equal to the : FTS FRYAA FIBI TS AL T 2F |

cost price, then find the cost of the article. T T TS T2
W) X 72 EHE &) 725
® 0 EEL maw
D) 100 (C) 905
(D) 100 Bisl

78. Anasagar Lake is located in which one of 78, SRR B G I SRES? Elﬁlil

the following States? A) wEEls
{A) Gujarat ((B; e %ﬁ
(B) Rajasthan ' '
(C) Uttarakhand (©) Tere
(D) Karnataka ©) ¥

79. Who founded the University of Nalanda? 79. & i TRRTET dfed s

(A) Samudragupta (A) FEed
(B) Chandraguptal (B) 2w SEred
(C) Skandagupta
(C) Twed
(D) Kumargupta I (D) e TS

80. Who of the following is associated with the
musical instrument called Sarangi?

80. FeEReafewTIer T @I ARk
A &2

o psi BT e B
.G. Jog
(C) Buddhadeb Das Gupta ) ®) fo. & af
(D) Binda Khan (©) Jarwried
(D) Rt 2=

81. Which country hosted the ‘World 81. (T ¢ 2024 Hite oy Afdret fer-a

AU EKBRIAKPREAADD AR DR EADRIRR AR BOERPRPORROBERAVDBEABEXR XIS SR

Environment Day 2024’? e R
(4(;; lS{aud.i Arabia (A) c'jﬁﬁw
ussia A
(C) India @) =
(D) Australia (© e
(D) SR
(=15 =] Please Turn Over
=
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82. Who is considered the founder of * 82, crh Fitam efdre! I Rraee Tat =2

Renaissance Art?
A) OWIGET
(A) Donateilo Egm ((B; fraral
(C) Masaccio
(D) Leonardo da Vinci (D) Fratcdt e
83. How many Fundamental Duties are 83, oely AW 1l G 97 Sy
mentioned in the Indian Constitution? wjeE? EIﬁEI
(A) Five (A) i A
(B) Seven (B) A® %
(C) Nine ©) 7
(D) Eleven D) gt

84. The concept of ‘Gig Economy’ is
characterized by

(A) Full-time employment with benefits.

84. et i’ e B =
(A) AFRFGR =15 siefR |

(B) Short-term contracts or freelance work. (B) T B 3t Reeprst e
(C) Government jobs. (C) i visfI
(D) Traditional economy. (D) afezste wdAfE|

85. Which is the smallest country in the world, 85, Wid0-49 MR SiFerE Ao sey

with an area of only 0-49 square kilometer? o™ @G e
(A) Monaco Ob10 @A) G
(C) Andorra ) ©
(D) Casablanca )
(D) Figrst

86. The Lonar Lake is located in— 86. FR % W3S T— E]gjli]
(A) Tamil Nadu (A) SiftEFe o 1
(B) Maharashtra @B) Y. ) E)%
g gzhzmdcsh (C) Tagsnm
(D) “efex

EAEEKBBARBRIAERBREARNIEDRRAINRTIVTNTIRNIBNBVABRBOIIRNIASK R R ADD A * DD %K

s
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87. Which State has recently introduced a
comprehensive social welfare scheme named

‘yogyasree’? Eﬁm
(A) Bihar o
(B) Jharkhand Eﬁ

{C) West Bengal
(D) Madhya Pradesh

88. 2 men and 7 boys can do a piece of work in
14 days; 3 men and 8 boys can do the same in
11 days. Then 8 men and 6 boys can do three times
the amount of this work in

(A) 18 days
(B) 21 days
(C) 24 days
(D) 30 days

89. If a bucket is 60% full, then it contains

4 litres more water than when it is 463% full.
‘What is the capacity of the bucket?

(A) 30 litres (@)% =]
®) 15 12mes m
(© 163 lites

D) 20 litres

90. A man in a train notices that he can count
21 telephone postsin oneminute. If they are known
to be 50 metres apart, then at what speed is the train
travelling?

*

E R E EECR R X R R R XX E R KRR R R R e R X R KR - R R R e R R - R R R i R R

Bee o

87. @i qeg T2fe «3fo Jivle At woi
295 QTR bl FERR?
(A) R
(B) Wee
(C) = osas
(D) TgeT

88. 2 T (IS @ 7 & e GFi6 I 14 Tm
TS AN G2 3 T (FIIF 8 8 T IS G2 R FIE
110G I 0 | 8 & (F11F 'S 6 & IS 93PS

Torteet e Tl o e EHE
(A) 18w o T
o i
(©) 24T+
D) 30FA

89, @S 46%% ©f i O AR e
YR OIF (U0E 4 Tofore ot [/ 9ieg 3 el
60% ST LT | IETOBT TEHIF el TO?

(A) 306"
®) 15 b
(©) 16%151%1?4
D) 20 o

90, S e G I Fai7 ™ 1 FfHG 21 ©
BRI ¢ArS rdTe 77 | I Gleiceis ceivbefm
FgFIE 7Y 50 o =, @ GAbe sferms e

faste
@) S3iohe o s =
() 60 km/br ®) 57RF/<w [=l:
(D) 63 km/hr (C) 60 /=
D) 63 Bfi/<st
[=] % i

SLA/23-B-1190090/17
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91. A man distributes T 1,65,000 among his y 91, % IRF 1,65,000 5w T, § @ ofww

daughter, wife and son in such a manner that % of
the daughter’s share, %th of the wife’s share and
%th ofthe son’s share areequal. Find the daughter’s

share.
(A) 15,000
B) ¥ 30,000
(C) 345,000
D) 60,000

92. 1% of which sum is equal to 3% of ¥ 1007

(A) T750
(B) T 800
(C) T900
(D) T 1000

Em

st

93, Who was the first women President of the

Indian National Congress?
(A) Sarojini Naidu
(B) Annie Besant
(C) Neli Sengupta
(D) Aruna Asaf Ali

94. The dance form called ‘Mohiniyattam’ is

associated with which State of India?
(A) Kerala
(B) Telangana
(C) Tamil Nadu
(D) Karnataka

SLA/23-B-1190090/18

* TG G Ol9 FEF (W TITS 01T A B

W, AR o BRI L W 8 sjggE o B

% SR A 2 | T e iR sifne e g e
(A) 15,000 5t [=]%[E]
B) 30,000 51t m'%
(C) 45,000 g [=1
(D) 60,000 Gt

92, TS %ma%-wm 100 B 3% LGkl
RLITEICR
(A) 750 %=
(B) 8005
(C) 900 BT
(D) 1000 B=

93, ST WO FCACTR AL w2a oS &
fereme E E
(A) R ARy !%ﬁ
B) i @i [=:
(©) T G
D) S GFE S

94. GIRASIGT SIF0SR I AT TSI ?

HEXADBEAADBAEREIA R TFTIREINASAAAAIRRRRORADRRBRBROIBRBOBAUABRAABBAANR D

Eﬁ@ (A) Fa=
ey (B) CStER!
Eﬁ (C) oifEg
D) o
[=]}[u]
[
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95. Bhitarkanika National Park is located in *
which State?

(A) West Bengal Eﬁrﬁl
(C) Odisha )

(D) Uttar Pradesh

96. A number reduced by 35% becomes 325.
What percent should it be increased so that it
becomes 6507

(A) 25%
(B) 30%
(©) 35%
(D) 45%

97. Whichofthe following Amendments allows
aconstitutional status to the Panchayat Raj system?

(A) 71st Amendment
(B) 72nd Amendment
(C) 73rd Amendment
(D) 74th Amendment

98. What is Argentina’s currency? mﬁm
(A) Dollar [=]:
(B) Kroon
(C) Peso
(D) Sol

L E R AR R RCKCR R ECECE Qﬁ%’@%@ﬂ'Qﬁ’ﬁﬁﬁﬁ%ﬁ‘%‘&’ﬁ‘&@ﬁ@%ﬁ%@%ﬁ‘%%*‘&"&##@‘&?**%‘%#%

%ﬂ
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95. foogriie wioR TUM (@iN A wR_iFs?
(A) o
®) ="
(C) et
(D) Eeqarm

96, 36 R 35% JF it A 325 =)

Rifa =eqt 3w 27 Fo TE A 650 TR ¢

(A) 25%
B) 30% ' @ﬁm

©) 35% o
D) 45% ;E%

97, 5T @ TR AT YW AR

A% IS AT i e TEE e

(A) 71S% FRENLR
B) 77 FHHR
(C) 73% T
(D) 7497 FTHtEA

98, ST BAIT = e Eﬁ.
(A) wei" Eﬁ%

(B) g=
(C) i

(D) &Il
Please Turn Over
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99. Which institution has released guidelines * 99, (@ 2fedia ©igre Auro GRTRFER

for livestock telemedicine in India? e R 2 ST
() ATMS (A) @&
(B) National Institution for Telemedicine ®) -
(C) NITI Aayog BT TAFBRHER T GRRFw
(D) National Dairy Development Board (©) M ez

(D) SO 7o Sae 16 EXE

S

%

e

100, Parkachik Glacieris located in which State/

100. ~Afow iz coid 91 / U.T.a w1fEo e
U.T.?

(A) Arunachal Pradesh’ EA[E (A) S e (=)3551
(B) Ladakh m (B) =imig &

(C) Jammu and Kashmir : (C) =7 ¢ T 3

(D) Sikkim (D) Fifew

BARBCTRUOBERBABAABEIRADRR R B K

*##@@*#%%#*%@#*ﬁ@@%%ﬁﬁ%ﬁﬁﬁﬁ@ﬂ%

[=]4j[=]
A=,
El ol
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DO PEN g YOU ARE ASKED 0.
2023
TEST BOOKLET TEST BOOKLET SERIES
English, General Studies and Arithmetics
Time allowed : 1 ; hours
Full marks : 100

Answer all the questions.

Questions are of equal value.

Serial No. 1190091, Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answer. 0.25 mark Jor each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1L

2.

verb:

wish.

3.

Fals

Study the following sentence:

Come and meet me in my office.
What part of speech is ‘me’? .

(A) noun ‘. E
(B) adverb E];

(C) pronoun

(D) modal verb

Fill in the blank with the correct modal

The online store informed that we
cancel the order we placed, if we

(A) shall
(B) would
(C) will
(D) can

What is the most appropriate passive form

of the following sentence:

The mason is building the wall.

(A) The wall is being built by the mason.
(B) The wall is been build by the mason.
(C) The mason build wall.

(D) The mason is built by the wall.

Q
()

LR E KRR B AR R E SRR K R R R KURR - RORGR R e R R e R e R Rl e I R el R R

6. The adjective form of the word ‘Glory’ is

(A} Gloried

(B) Glorious
(C) Glorification
{D) Gloriously

7. Replace the underlined word with the
appropriate idiom from those given below:

He listened when his boss spoke.
{A) heard carefully

(B) paid his ears

{C) gave his ears

(D) was all ears

ElE
[=]:

8. Replace the underlined verb with the
appropriate phrasal verb from those given below:

I have stopped smoking.
(A) giveninto

(B) givento

(C) givenup

(D) given on

9. Replace the underlined verb with the
appropriate phrasal verb from those given below:

4. Complete the sentence with the correct The plan did not succeed.
preposition: (A) come on
The customs were searching (B) comein
drugs at the airport.
A) £ (C) come along
(&) for Eﬁm (D) come off
(B) on 52;%
© in [=:
(D) at 10. Insertthecorrect preposition inthe following
sentence:
5. The feminine gender of Drone is He acceded my request.
(A) Duck (A) for EE
(B) Bee (B) of i .
(C) Filly (C) on Of
(D) Doe @) w©
[=]%; =]
[=]y=:
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11. What kind of a sentence is the following? *

Fals s

16, Fill in the blank:

The moon was bright and we could see our The half of the play was
way. uninteresting,

(A) Complex sentence (=] E (A) later

(B) Simple sentence El (B) latter

(C) Compound sentence (C) latest

(D) Exclamatory sentence (D) late

12. Change the voice:
All his friends laughed at him.
(A) He was laughed at by all his friends.
(B) His friends laughed at him.
(C) His friends were laughing at him.
(D) He laughed at all his friends.

13. Change the following sentence into an

17. Which of the responses is correct for the

statement? E . E

“I like ice-cream.”

(A) Soaml. [xl:
(B) Sodol

{C) Soldo.

(D) Ialso like.

Affirmative one: 18. Choose the correct alternative;
This story is incomplete, The car broke down and we
(A) This story is not incomplete. get a taxi.
(B) This story is complete. (A) haveto
(C) Completeness is there in this story. (B) hadto
(D) This story is totally complete. (C) must
(D) gotto

14. An ophthalmologist deals with
(A) matters of the brain,
(B) diseases related to the respiratory
system, .
(C) diseases of the eye. rE:. E
,‘ (D) aparticular skin discase.  [u]:

‘ 15. Replacetheunderlined portion with anidiom
from the list below:

He got himself into trouble by interfering in
his neighbour's affairs.
(A) strained every nerve
(B) took to heart
(C) out of spirits
(D) burnt his fingers

AUANBEXEPPARFEAXRARASRETIDTRBOTEEOIRATRATRIRRRETORR AR DR NED DN K DR **

=l =]
[

SLA/23-C-1190091/03

19. Life is as tedious as a twice-told tale— The
figures of speech used in the sentence are:

(A) Metaphor and Alliteration

(B) Apostrophe and Hyperbole

(C) Simile and Alliteration

(D) Alliteration and Personification

20. Replace the underlined verb with the
appropriate phrasal verb from those given below:

(A) fallenin

(B) failen out [=]:
(C) fallen over

(D) fallen down

He has quarrelled with her. E:.?E

Please Turn Over
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21. Fill in the blank:

Q2
i

26. Fill in the blanks in the following sentence

He could not to see his brother with the appropriate words:
in any kind of distress. [=]:t[w] Aman live satisfactorily
(A) bare A ; he does at present half his
(B) beer E; present income.
(C) bore (A) could, very, as, by
(D) bear (B) can, as, as, on

22, A synonym of the word ‘Equivocal’ is

(A) Ambiguous
(B) Equal
(C) Clear
(D) Vocal

23. Replace the underlined verb with the
appropriate phrasal verb from those given below:

The building was demolished last year.

(A) pulled down
(B) turned down
(C) gone down

(D) made down

24. Anantonym of the word ‘Magnanimous’ is

-

(A) Selfish (=]
(B) Generous
(©) Courageous I=:
(D) Ignoramus

25. They are men of like build and stature. In

this sentence ‘like’ has been used as a/an
(A) Adjective
(B) Noun
(C) Preposition
(D) Adverb

SLA/23-C-1190091/04
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[x]
I % % %

28. A

(C) would, as, like, with
(D) will, very, since, by

27. Replacetheunderlined portion with anidiom

from the list provided below:
I begged him to reconsider his decision but
he refused to vield. .
. [} =]
(A) took to his heels .
(B) put his foot down [=]4

(C) turned his head
(D) took to heart

of wolves.

(A) herd

(B) colony
(C) drove

(D) pack

29. He replied that he worked whenever he
liked— This is a/an

(A) Simple sentence

(B) Compound sentence
(C) Complex sentence
(D) Exclamatory sentence

EE
30. Change the voice: Ok
The guard refused him admittance.

(A) The guard refused to let him in.

(B) Admission was not granted to him by
the guard.

(C) He was not admitted by the guard.

(D) He was refused admittance by the
guard.




UT.?
(A) Arunachal Pradesh
(B) Ladakh
(C) Jammu and Kashmir
(D) Sikkim

32, Theprimenumbersdividing 143 andleaving

a remainder of 3 in each case are
(A) 2and 11
(B) 11and 13
(C) 3and7
(D) Sand 7

33, Which State has recently introduced a
comprehensive social welfare scheme named

‘yogyasree’?
(A) Bihar
(B) Jharkhand
(C) West Bengal
(D) Madhya Pradesh

34. Which of the following sports is related to

the Ezra Cup?
(A) Polo [m]:% ]
(B) Tennis :
(C) Lawn Tennis E
(D) Cricket

35. Who wrote the book “Life Divine’?
(A) Swami Vivekananda
(B) Keshab Chandra Sen
(C) Aurobindo Ghosh
(D) Swami Dayananda Saraswati

SLA/23-C-1190091/05
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31, Parkachik Glacieris located in which State/ :

3
e

LEEAKD DA ADBAAERA K AR AR R IO ACANEIRC IR RO DARBERRB DR R E RN

(=] 7 =]
=

Fale o

31. RS B R 9 / U.T.~ S_ES?

(A) SFellbe &t
(B) =mrd

(C) Ty e I
(D) PRk

32. (PR 6 (i P! M 143 ©15 SR

ST ST 3 AP ? El" E]
(A) 2938 11 K
(B) 11 3% 13 =
(©) 347
D) 59R7

33, @ % T b HE AifeS Feid

o4%H ‘I Bi IR

(a) ==
(B) Woe
(C) sifFoaam
D) e

34, JHT @ i g TR AR AR

(A) AR
(B) B
(C) =W GBfm
(D) &

35. ‘Life Divine’ 925 & Frdeesi?

(A) A R LE].*EE_]_
(B) (<vd %
(C) =% (21

(D) =3 i TS

Please Turn Over
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36. Who among the following is the winner of
Bharat Ratna in 20247

(A) Karpoori Thakur 5]
(B) APJ Abdul Kalam E"%
(C) Pandit Ravi Shankar

(D) Shah Vikram Sarabhai

37. Anasagar Lake is located in which one of
the following States?

(A) Gujarat

{B) Rajasthan
(C) Uttarakhand
(D) Karnataka

38. If a bucket is 60% full, then it contains
4 litres more water than when it is 462% full.
What is the capacity of the bucket?

(A) 30 litres
(B) 15 Ilitres

©) 16% litres
(D) 20 litres

39. A shopkeeper has a certain number of eggs
of which 5% are found to be broken. He sells 93%
of the remainder and still has 266 eggs left. How

many eggs did he originally have? [=]:% W]
(A) 3800 5%
=]

(B) 4000
(C) 4200
(D) None of the above

40. The least perfect square number divisible
by 3,4,5,6 and 8 is

(A) 900
@) 1200
(C) 2500
D) 3600

SLA/23-C-1190091/06
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36, s IR @ 202476 SReRw’
AT NS T L
(A) R oTR
B) u.F. e FEw
(C) +fos afma
D) R el

37, SRFIE TN @ T 1S ?
(A) weEaB

(B) 9T CIEAt0)
(C) Tamre &
D) e T

38. 3% IS 46%% ©f% A @ A T
IR Ol (A 4 T &= R QU9 7w A=l
60% ©f% AUTE | AT Tmue Tl Fo°

(A) 30T

(B) 15 5=

(C) 16% fom

D) 20 B

39, GFEH EIFFITET Fig @ offawd fow itz
©iF 5% ot | A g 93% [ fer Faw Am oim
it 266 6 ST SIS e | A O Iz Fof
o feste

(A) 3800
(B) 4000
(© 4200

D) Toima @D Tw

40. 3,4, 5, 6'¢ 8 fara Rrstey e 46+

A [=]:} [x]
(A) 900 ey
B) 1200 [=]:
(C) 2500
(D) 3600

Tl e B AT E R R R R e R R R R e e R R R R e Rt e R e R e RN R R R R R RN R R R R R R
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41. 2026 AR =12 & & o] 520 Reiwisig

41. The 2026 ICC Men’s T-20 World Cup will

be jointly hosted by A i T 7 G 7 G
(A) India and Bangladesh &) SFe e
(B) India and Sri Lanka 0} ! ]
(C) India and Pakistan (B) =9 @ EWW
(D) Bangladesh and Sri Lanka (C) ©io 8
(D) JAFT @ St

42, Which instimtion has released guidelines 42. & A9 Sigre Aus™>w GREtiEg

for livestock telemedicine in India? e MOl et SEme
o Nati SaJIn titution for Telemedici *
(B) National Institution for Telemedicine (B) Ui BAEEREN 7 GREEH
(C) NITI Aayog .
©) TS =i (a]:}[u]

(D) National Dairy Development Board
(D) T 73 Tae @6 o

43, Whenoneevent brings about anotherevent,

43, T4 G oA SEIH 9o N S, o

it is known as: % *Rfe =
(A) Correlation (A) AR F=id
(B) Comparison
(C) Causation @) ¥
(D) Association (C) R
(D) wffe
44. Numismatics is the study of— 44, Fefrmgbs 2= 3 SgTw—
(A) Stones and Coins fu]=1 ] (A) sitd e @t
(B) Terracotta K .
coireiio
(C) Coins [=i: E}; i
i (D) Inscriptions O 5

45. The average of ten numbers is 7, If each
number is multiplied by 12, then the average of the
new set of numbers is

45, Wit TRYF 9T 7| AL AT 12 fea
& P (TG 74116 e ~ieT TR ORI TJ
(A) 7

AAXEZEAARDAEADBAAK VROV RECGERINTECROBTAIRTIRAIDIPADTORE DDA ARR D R D D NN %

®) 7 B) 19 O
B) 19
©) 82 [=l;
(C) 82 (D) 84
(D) 84
E:E't E Please Turn Over
=%
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46. The Lonar Lake is located in—

(A} Tamil Nadu

(B) Maharashtra
(C) Uttar Pradesh
(D) Odisha

47. Which one is the important macronutrient

Q
@0

46. FFIF FIS SR T—
(A) SifeAIe
(B) g
(C) Teaam
(D) “efet

47. Tfetim w1 wWOIRR  AREAmE

for the plants? (macronutrient) $?
(A) Nitrogen (A) WRIGTE [=]-X[=]
(B) Manganese T :
(C) Copper (E) ol E'
(D) Chlorine ©
(D) i

48, Goods and Service Tax council (GST) of
India is headed by

48. ©fFCSA AP ¢ AT = AR @9

e @ 2wt
(C) Finance Secretary (B) wE
(D) Speaker of Lok Sabha (C) =T
D) EigTeir Pl

49, Who was the first women President of the 49, SIS O FLAFTH 247 Az TolHifs &

Indian National Congress? . EIGTE
(A) Sarojini Naidu i (A) R g
(B) Annie Besant OF (B) R @A
C) NeliS
(C) Neli Sengupta © Fffl coe

(D) Aruna Asaf Ali
D) S T S

50, If in a calendar-year, January starts with
Monday, how many Wednesday do you have in

50. It <6 WitcTeF-R wPEE oF W
G, OiRge wiaiface Fouf quaiF wi?

January? @A) 6
ey ®) 4 EAE
© 3 D) 5 =1;
®) 5

EE R X R E R XUECE E KR R N RCE R R R R KRR R R e Bl - R R e R e RR R - R R ECER S URR R
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‘ 51. A man in a train notices that he can count * 51. = Jfe G a F37 7™ 1 7RG 21 %
| 21 telephone posts in one minute. If they areknown ¥ % (ORI cilv orate =iie | T GFeem coivbefm

to be 50 metres apart, then at what speed is the train ,33 TP AT 50 Rola =, ©@ GBa fowEs o

| travelling? E‘, %?
Q(;; ;’:ﬁ ] (A) 55 Rfi/=dt
(C) 60 km/hr ®) 57 Fea/aset
(D) 63 km/hr (© 60 BRi/a%t
D) 63 Ffi/ast

52. 10 men can complete a piece of work in
15 days and 15 women can complete the same
work in 12 days. If all the 10 men and 15 women
work together, in how many days will the work get

52, 10 &9 3 I 15 e oo 0 O R
15 &= At W8 @32 I 12 T o9 <= I
10 & 739 6 15 & A% G TR0 BCF, =

completed? CRRIE [=]: E
(A) 6days (A) 6T
| > [s]

®) 6l days (B) 63 !

3
©) 62 days © 62 fim

3 3
©) 73 days ) 73

53, Which State does not share border with

53, FafRe el cRawmba e

(XA EBEEABIAAGRAEDSAAEBBATRETSEEFATRTIBOREBRATBA AR I A XD S KX

Myanmar? EE @ T TR e e @R
(A) Assam . (A) S
(B) Nagaland = ®)
(C) Manipur o ¥
g (D) Mizoram ©) e
O) FrsEE
995 995
54, The value of 999—— 54, 999 -7 W
e value o 999999 x999 is 999999x999 ¥
(A) 990809 (A) 990809 i
(B) 998996 (B) 998996 (=13
(C) 998999 (C) 998999 (=]
(D) 999824 (D) 999824
Please Turn Over

%
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55. Atwhat rate per cent of simple interest will * 55, iAo 12 IR Faaet oG, QRS et

a sum of money double itself in 12 years? M T T2
¥ . :
(A) SZ% =] E- (A) glo,
: 4
1 [&: ¥
®) 83% ®) 8%
©) 8=% oL
72 © SEA
oLy ol
D) 5 (D) 95%

56. Market Control Policy had been first 56. YA ©IF0S (P T W IwF

introduced in medieval India by % mmﬁﬁ;{ ? E:' E
(A) Itutmish (A) Wﬁﬁﬂ .
(B) Giyas Uddin Balban T S— [=]
(C) Alauddin Khilji )
(D) Feroz Shah Tughlug (C) werefim Refe
(D) @ =g gw=e

57. A number reduced by 35% becomes 325.
‘What percent should it be increased so that it
becomes 6507 =% =]

57. 9% AL 35% TN e A 325 =W
Y17 ezl Iz 7 Fo A Y 650 A2

A) 25% : (A) 25%
(B) 30% [=}; (B) 30%
(C) 35% (C) 35%
(D) 45% D) 45%

58, Which is the highest peak in Andaman and 58. ufRewkER 1y @b e e ik

k¥ ARBEAADRIABEAKQGPROPRIPAABRARROBOARABRRRBROABEANDRE R ED R R XD R XKk

Nicobar Island? ‘aﬁﬂt@ﬁ e E:- E
(A) Mount Koya (A): 5% ot ]
(B) Mount Diavolo =)
(C) Saddle Peak B) &S fmireiet
(D) Mount Thullier (C) Ie= *%
(D) W% YFmE

S
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59. Who is considered the founder of :

Renaissance Art?
{A) Donatello
(B) Giotto
(C) Masaccio
(D) Leonardo da Vinci

60. :1‘- of a tank holds 1335 litres of water. What
part of the tank is full if it contains 180 litres of

water?

(A)

®)

©

Wi Wi W= o=

D)

61. A sum of ¥ 750 is distributed among A, B,
C and D in such a manner that A gets asmuch as B
and Ctogether, B gets¥ 125 more than Cand D gets

as much as C. What is A’s share?
(A) 100
B) %225
(C) T275
D) T325

share is ¥ 855, the total profit is
(A) T 1,425
®) T 1,500
(C) T1,573-50
(D) T 1,575

SLA/23-C-1190091/11
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- 62, AandB investinabusinessintheratio3:2.
If 5% of the total profit goes to charity and A’s

E:5E

LR R R R R R R R K - R KRR R R e R R - R X Rl B R R R R R R R R R R
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59, @G FieE 2o s R sar e
(A) CSFIBE

®B) Fretel

(©) wiwifPe

(D) Fremicd wt fofs

60. <3 Biiead % ot 135 foi6ia o 4o | 1

Br=bes 180 B0 o= <ite, O TIEhd To wge
T S YIFE? L E]
: 2
@) 3 ]
1
(B) 3
2
© 3
2
{8)) 5

61. A,B, C'3 D7 & 750 B} eI ©ts

Tl ZF Ao A9 29 GBIl B @ C«7 &ie DI
@IFET AN W, B-97 A4 B C97 A
125 it A =5 W= D @ C97 &ie Bistg sl
T W | AT &l BT +Afewie e g1

(A) 1005
B) 225 Gt
(C) 275 it
D) 3255t

62. 3% wEE TP A € B8 TR

GgAe 3:21 I GG ST 5% W T =W R
A-g9 =TeFRe 855 TSl 28 (T, (6 &l T3

[l % (=]
SO

F )

(A) 1,425%= i
(B) 1,500 B! ,El EI
() 1,573-50 Bt Ol
(D) 1,575 Gigt

Please Turn Over
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63. % of which sum is equal to 3% of 1007

63. W%W 100 SR 3% T

(A) T750 MRLESH

(B) 800 IR0 (A) 750 Bt

(C) T900 []; (B) 800TR

(D) T 1000 (C) 900Gt
(D) 1000 Bt

64. The average of the first nine prime numbers
is

A9

® 11

1
© 11;

2

(D) 115

65. Who of the following is associated with the

64, 2 T CFF AT @2 E]

(A) 9
(B) 11

1
(© 115

2
(D) 115

65. TR afemaT rEEamg ek’

musical instrument called Sarangi? A e
(A) Amjad Ali Khan ) .
(B) V.G.Jog L2
(C) Buddhadeb Das Gupta ®) fS. 1. st
(D) Binda Khan (C) Tt vi*ag
D) et L

66. The HCF of two numbers is 8. Which one of
the following can never be their LCM?

(A) 24 [=]:h =]
(B) 48

(©) 56 E=T:
(D) 60

67. When was FIFA founded?

LR X RRCE X EURCE X RUECE e R K RURCE R R RO Rl e R e e RUR < AR - Rl R e K- R R I R R R X

(A) 1900

(B) 1904

(C) 1920

(D) 1930
[] ¥ [i]
-
= &=

SLA/23-C-1190091/12

66. T YT A0, 8] ABA @G FIAR
R

YA LS. I A2
(A) 24
(B) 48
(C) 56
(D) 60

67. ot T oo =
(A) 1900
@B) 1904
(C) 1920
D) 1930

[=];

=]
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68. 2 men and 7 boys can do a piece of work in
14 days; 3 men and 8 boys can do the same in
11 days. Then 8 men and 6 boys can do three times
the amount of this work in

]3]

(A) 18 days
(B) 21 days
(C) 24 days
(D) 30 days

69. The dance form called “Mohiniyattam’ is
associated with which State of India?

(A) Kerala

(B) Telangana

(C) Tamil Nadu
(D) Karnataka

70. The speed of aboat in still wateris 10 km/hr.

If it can travel 26 km downstream and 14 km
upstream in the same time, the speed of the stream
18

(A) 2 kmv/hr

(B) 2-5 km/hr

(C) 3 km/hr

(D) 4 km/hr

71. Inaclass, %th of the students are girls and

rest are boys. If %fh of the girls and %th of the

boys are absent, what part of the total number of
students is present?

AR DBARDBEAEADRBA X TROETBT TR RETRATERFRORREROTTEAABTEAAIEERE D Xk KK

13

a8 s

68. 2T @IF @ 75 e 9F 0 I 14 e
FALS AT 4R 3T (G118 8 T eF 68 GRR TS
1117 419 T | 8 T (T '@ 6 T o1 63 NS
omad @1 Tl o9 $90E0

(A) 18
®) 21 =
©) 24w
(D) 30w

69. RAEGT SRATST (TN T T2
(A) @ E: &
(B) (SR 5 :
(C) oifiErE '
D) b

70, FEes @3 (MR siferaet 10 =R/
I i @ves SEE 26 Rl uR @iteR
Ao 14 Bl g TR AoTT FF, ORE
@ieed siferast ffa 3]

(A) 2 Ry
B) 2-5 Rf/a%t
(C) 3 i/
(D) 4 /i

71, <=0 FF I TERaT % ool g 8 A
o 2 Oz | 3% S BEe % Tt G2 REH

% T SRS AU, O (b YEDAT T W

1 B & soe e
& 2 a]; 17
18 (A) o5
® = 25
18
2 ® % :
© 5 ® o0
23 K
© = B
23 :
® 2 30
23
(D) %
.E E Please Turn Over
=]
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72. A positive number, which when added to
1000, gives a sum which is greater than when it is
multiplied by 1000. This positive number is

(A) 1 =] [
®) 3

© 5 [=:
®) 7

73. Which of the following best describes a
‘bear market'?
(A) A market in which prices are rising
(B) A market in which prices are falling
(C) A market with stagnant prices
(D) A market with high trading volumes

74. Rajaji Raghati Biosphere Reserveis located
in which State of India?

(A) Uttarakhand

(B) Himachal Pradesh
(C) Maharashtra

(D) Karnataka

75. How much time does sunlight take to reach
the Earth?

(A) 8 minutes [=]: E
(B) 2m§nutes [=]:
(C) 4 minutes

(D) 16 minutes

76. An article was sold for ¥ 144. If the
percentage of profit was numerically equal to the

C-14

+*

ERAARTRAAKREA KX QYBARREARSBOIBOBINAGEOEAOREBRDTERARNBEANRBTRERD R R

72. 9B 4% R, T A 1000 @it [
CatstEEa RGBT AN 1000 @ T ST (T
08 o | IS TR 25

A) 1
®) 3
©) 5
®) 7

73. wa AP R - wiEew o4t

3

(A) =5 T @A AW S
(B) =B & I WIS I
(©) T TR =0 &

(D) T GRR sFewR «= i awd
74. A S P e et oF
A0S SRS 2 E:E
(A) Teae 5 :
(®) o sizet C
(C) TRAlg
(D) FHs

75. R =i <R CTRite T T weel e
() 86
®) 2R
©) 4T
D) 16 fiiH6

76. 3% T 144 B e w41 2ot ora o
FTSd ARYAA FIV9 FHLIE ARY T = |

cost price, then find the cost of the article. wHE T S T X[
(A) T72 A) 725 £ 2
(B) 80 :
(B) 80ist
(© T90
D) T 100 * (C) 90 Byt
: @) 1005w
E .!IE

SLA/23-C-1190091/14
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77. Lek is the currency of which country?
(A) Azerbaijan
(B) Angola

ot
(C) Indonesia _E E
(D) Albania O

78. Who founded the University of Nalanda?
(A) Samudragupta
(B) Chandragupta I
(C) Skandagupta
(D) Kumargupta I

79. A group of 1200 persons consisting of
captains and soldiers is travelling in a train. If for
every 15 soldiers there is one captain, then the
number of captains in the group is

(A) 70

B) 75

(C) 80 [=1:35]
(D) 82 &

80. ‘National Nursing and Midwifery
Commission Bill’ is associated with which Union
Ministry?

(A) Ministry of Health and Family Welfare
(B) Ministry of Home Affairs

(C) Ministry of Women and Child
Development

(D) Ministry of Science and Technology

w =0
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77. T RN RO W1 2

(A) WSS
(B) Sy

(©) TwiRa
R ESEE

78. @ = R i sekEme

(A) med )

(B) o2 berees 0]
(C) Twad =]
(D) 29 IWRaY

79. CHRRSE 1200 T=E G CRivE G
qiqt F0A | At rSF 15 & ANEE G0 T
FE FIATS e IR, S SR e (Il Glteifen
TR TS I ?

(A) 70
(B) 75
(C) 80
(D) 82

80. ‘e APR Sie Rosniza simm R’

@ @R T X TG
(A) T e 3 T[T T
(B) %A eeilew _
(C) e fi Sz Tt -3
D) @i e ogfe wgeEm %
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81. What is the capital of Nigeria?
(A) Algiers
(B) Abuja
(C) Lagos
(D) Nairobi

SLA/23

82, How many Fundamental Duties are

mentioned in the Indian Constitution?
(A) Five
(B) Seven
(C) Nine
(D) Eleven

83. ‘Operation Sarvashakti’ recently seen in

the news, was launched by which armed force?

{A) Indian Air Force
(B) Indian Navy

(C) Indian Coast Guard
(D) Indian Army

84. Whichofthefollowing Amendmentsallows
aconstitutional status to the Panchayat Raj system?

(A) 71st Amendment
(B) 72nd Amendment
(C) 73rd Amendment
(D) 74th Amendment

85, Which country hosted the ‘World

Environment Day 2024’?
(A) Saudi Arabia
(B) Russia
(C) India
(D) Australia

SLA/23-C-1190091/16
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: 81. wRrafae qein e
(A) ==
(B) wnge
(C) Al
D) =l

AR XKD HADBAABRA KGRI BBTNERTLEAEAOCOIAPIREBODREEARBEAANDEARRD X

82. e AR T e F6e Sme

iR

@A) v [=z5S]
®) 71 =

(C) "4

(D) GGt

83. ArEfT AT B WA el e
I TP <AL 2 oF I TR

(A) SEem Ram AR

(B) ©iFow TR

(C) o=eT TRl ARA
(D) ©IFeT Gz

84, AT B ALY FLALRIT NHW LTS
A% YT AR v orewt z@T=?

(A) 7163 ALY
B) 72 ALY
(C) 7399 AL
(D) 747 R4S

85. (W <t 2024 e Ty Afacet Mew-am
i Sk ¢

=]
=

[=]
]
[ )

(A) M ==R _

®) A [E]-5(E
(©) s [=];

(D) wCgfemt




the hands of a watch be together?
(A) 45 min. past9
(B) 50 min. past 9

© 49% min. past 9

D) 481—21 min. past 9

87. Bhitarkanika National Park is located in

which State?
(A) West Bengal
(B) Bihar
(C) Odisha
(D) Uttar Pradesh

88. What is Argentina’s currency?
(A) Dollar
{B) Kroon
(C©) Peso
(D) Sol

89. A fanis listed at¥ 1,500 and a discount of
20% is offered on the list price. What addifional
discount must be offered to the customer to bring

the net price to ¥ 1,104?
(A) 8%
®B) 10%
{C) 12%
D) 15%

SLA/23-C-1190091/17
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86. Atwhattimebetween9and 100°clockwill * 86, 9%t '8 10 51 ep IR e W Wb Fibt

opi0| : IFAIY AF
= . (A) 95 Qe 45 WEG
) (B) 9ﬁr@wsoﬁﬁ%

©) 9% @ 49—ﬁﬁ% .&%

(D) 97'51@@ 48-—

87. fcosolie wien Twim v gitey e
(A) Ao
®) Req
(C) i
(D) Temawe

88. SCE o = Fi
(A) TR
B) =
(©) cwn
D) @

2
=]

89. @3 Wi «Rfer 1,500 SR @ €}
qAEDR ToF 20% QT (RSA TW| GIoT 0!

AXABBEAXSRAXER AR ORIV TN RBABNIIANRTIB P B ATOAK RV AURNDSARD D

wfefie o fiet 68 wmb e et 1,104 5=
o g s e e
(A) 8% .
(B) 10% =] EI
(©) 12% {sl:
D) 15%
-E E Please Turn Over
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90, A motor car starts with speed of 70 km/hr *

with its speed increasing every two hours by I
10km/hr. Inhow many hours will itcover 345kms? 4

(A) 2Z hrs
(B) 4 hrs 5 min
(©) 4% hrs

(D) None of the above

91. Theterm ‘Orographicrainfall’ is associated

with:

(A) rainfall caused by cyclones.

(B) rainfall caused by warm air masses.
(C) rainfall caused by mountains.

(D) rainfall caused by convectioncurrents.

92. Recently which Indian shuttlerwon the title
of the Bonn International Tournament?

(A) Aakarshi Kashyap
(B) Ashmita Chaliha
(C) P.V. Sindhu

{D) Tanvi Sharma

93. A man distributes ¥ 1,65,000 among his
daughter, wife and son in such a manner that 1 of
ﬂlme daughter’s share, %th of the wife’s share and
gth ofthe son’s share areequal. Find the daughter’s

share.
(A) 15,000
(B) ¥ 30,000
(C) ¥ 45,000
(D) ¥ 60,000
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90. <= o5 <% 70 FRI/SBT @ot Tl oF
TR G2 &S 795! oEg o7 <fSrst 10 B/
® I A @b ARh 345 i are wises wae

ENE 2 <o som e
%% (A) 2%‘3"‘%‘1
®) 4% 5 "G
©) 4%'-'@1
(D) CoiET @EDE 7
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91, SRR BT =B T AL TS 3

(A) IFaoes Tt 8 oo B4 [E
(B) T Efo T o o

(C) ~ATed FIE 7B el
(D) s &S a8 IS

92, TS PN SITem Aioer® Bonmn
eEifes AfRSEIiNeR (oK & SE ?

(A) SR s
®) =ifre s
© Hif. fig
(D) SRS it

93, < IF 1,65,000 51 ©F T=01, B ¢ @R
TG IISIE et T mmw = BiFE
W B 2l B WR“T‘G 4T i B

- wwmw MWWW‘{@?

(A) 15,000 5=t

®) 30,000 Gt =: EI
(C) 45,0005t [u]:
(D) 60,000 B
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94, 31 74 '8 wEei PRiet ewe Bewa 75%
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| 94. In a mixture of a milk and water, the
proportion of water by weight was 75%. If in the
60gm mixture 15gm of water was added, what

wotuld be the percentage of water? 2=

(A) 75% 5;% ((:; ;:‘;’:
e = ©) 90%

| (C) 90% 20%

‘ D) 80% (D) 80%

i

| 95. Jamini Roy was a famous 95, qifSAl I 9FE [FUre I
(A) Producer ( A) AGF ]
(B) Painter ®) Faw [=]:3(a]
(C) Dancer E
(D) Actor f]():; 1

96. The concept of ‘Gig Economy’ is
characterized by

(A} Full-time employment with benefits.
{B) Short-termcontracts or freelance work.
(C) Government jobs.

(D) Traditional economy.

96, s TR dreita ARy ==
(A) ERRGTR -l Bl |
@B) o pie 3t s e
(©) 7 Bl |
(D) &g G|

97. Thegreatestnumber whichcandivide 1356,
1868 and 2764 leaving the same remainder 12 in

97. (IIH RS WY T 1356, 1868 @R
2764 ol e Aforwig SieieiT 12 e

each ca:;sﬁt‘ E:' E ( A; 6;4
3B)1
@) 124 [=)? (©) 156
©) 156 (D) 260
(D) 260

98. Which State adopted the Three-tier 98. (T4 ey dLREF [T AeEtS A5

BRAXPEAARBEAKDBOIBIVTRBOBRINICAIRNROIBRBATEARBTRAADR SR KK

Panchayati Raj system for the first time? T ST FE?
(A) Rajasthan (A) qreErg=
(B) Andhra Pradesh [=]-t[m]
(C) Bihar ® %@ %
(@) Kamataka x (© 1= (=%
* (D) 6=
[=] F'jm Please Turn Over
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99. -Theratio betweenthe speeds of twotrainsis * 99, %% g e T 7: 8 12 eem

7:8. Ifthesecondtrainrun_s 400 kms in 4 hrs, then : G 4 9% 400 THR. 9, 2 de G sifecs
the speed of the first train is

Eial .
(A) 70 km/hr L0 (A) 70 BeRy/ast E’?@&?
g ;i m =]; ®) 75 R/t [=];
() 875kt (C) 84 /7%t
(D) 87-5 ¥R/t

100. Which is the smallest country in the world, 100. 1= 0-49 IsRrARBASTeE {oig Trey

with an area of only 0-49 square kilometer? o= S 2
(A) Monaco (A) GIRICR IJ;E
(B) Vatican (=] QU ]
(C) Andorra [ © et )
(D) Casablanca )
(D) FHIg=

DAV REVREA AR AR RRRE

LR E RCACE X BCECE R KGR X ﬁ‘&ﬁ@‘%@ﬁﬁ‘&?@*‘&‘&?*‘ﬁ

E%E:]e
= =
Cfit

SLA/23-C-1190081/20




T

NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO.
2023
TEST BOOKLET TEST BOOKLET SERIES
English, General Studies and Arithmetics
Time allowed : 1% hours
Full marks : 100
Answer all the questions.

Questions are of equal value.

Serial No. ..1190092......... Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find forr probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answer. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Replacetheunderlined portionwithanidiom * 6. Fill in the blank with the correct modal

from the list provided below: verb:
I begged him to reconsider his decision but The online store informed that we
he refused to yield. EE cancel the order we placed, if we
(A) took to his heels )2 o wish.
(B) put his foot down [=]: (A) shall
(C) turned his head B) would
(D) took to heart (C) will
(D) can

2. Replace the underlined verb with the

appropriate phrasal verb from those given below: 7. Replace the underlined verb with the

appropriate phrasal verb from those given below:

He has guarrelled with her.

(A) fallen in The building was demolished last year. :
(B) fallen out (A) pulled down E E

(C) fallen over (B) tumed down g iy

(D) fallen down (C) gone down =z

(D) made down
3. Replace the underlined word with the .
8. Choose the correct alternative:

appropriate idiom from those given below:

He listened when his boss spoke. The car broke down and we

(A) heard carefully A E get a taxi,
id hi y (A) have to
(B) paid his ears T have
(C) gave his ears [=] (?:) ad to
(D) was all ears (C) must
(D) gotto

4. The femininc gender of Drone is 9. What kind of a sentence is the following?

(A) Duck The moon was bright and we could see our
(B) Bee way.

(C) Filly (A) Complex sentence

(D) Doe (B) Simple sentence

(C) Compound sentence ‘

5. Replacetheunderlined portion withan idiom (D) Exclamatory sentence

LR R KRR R RCRCE R XK E R - R R KR R R R R R R R R R R N R R R R R R R R R R

from the list below:
He gothimselfinto trouble by interfering in 10. They are men of like build and stature. In
his neighbour's affairs. this sentence ‘like’ has been used as afan
(A) strained every nerve (A) Adjective =%, ]
(B) took to heart (B) Noun "“"g@
(C) out of spirits (C) Preposition [=:
(D) burnt his fingers (D) Adverb
[=] % =]
: e |
[
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11. Replace the underlined verb with the *  16. Change the voice:

appropriate phrasal verb from those given below: All his friends laughed at him.
The plan did not succeed. (A) He was laughed at by all his friends.
(A) comeon gz E (B) His friends laughed at him.
(B) comein E ; (C) His friends were laughing at him.
(C) come along B (D} He laughed at all his friends.
(D) come off

12. Which of the responses is correct for the 17, An antonym of the word ‘Magnanimous’ is

statement? (A) Selfish (s} [w]
“I like jce-cream.” (B) Generous "IP%
(A) Soam1. (C) Courageous [=1:
(B) Sodol (D) Ignoramus
(C) Soldo.
(D) Ialso like.

18. Lifeis as tedious as a twice-told tale— The

13. Fill in the blank: figures of speech used in the sentence are:

He could not to see his brother (A) Metaphor and Alliteration
in any kind of distress. (B) Apostrophe and Hyperbole
(A) bare (C) Simile and Alliteration
(B) beer N E (D) Alliteration and Personification
{C) bore "I.E'. :
(D) bear aF
19. Complete the sentence with the correct
14, Replace the underlined verb with the preposition:
appropriate phrasal verb from those given below: The customs were searching
I have stopped smoking, drugs at the airport.
(A) giveninto (A) for
(B) givento (B) on
(C) givenup (© in
(D) given on D) at

=]

2(. 'What is the most appropriate passive form
of the following sentence:

The mason is building the wall.
(A) The wall is being built by the mason.
(B) The wall is been build by the mason.
(C) The mason build wall,

15. Change the voice:
The gnard refused him admittance.
(A) The guard refused to let him in.

(B) Admission was not granted to him by
the guard.

(C) He was not admitted by the guard.
(D) He was refused admittance by the

R R B RCRUE E RCEE e R0 R - R R R R R AR R - R R R R R R R RR R R ER R - R g JRE SRR S R

guard. (D) The mason is built by the wall.
rm E Please Turn Over
EI' o
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21. Fill in the blank:

SLA/23

The half of the play was
(=] ]
u L
[al:

22, Change the following sentence into an

uninteresting.
(A) later
(B) latter
(C) latest

(D) late

Affirmative one:
This story is incomplete,
(A) This story is not incomplete.
(B) This story is complete.

(C) Completeness is there in this story.

(D) This story is totally complete.

23. He replied that he worked whenever he

liked— This is afan
(A) Simple sentence
(B) Compound sentence

(=)
(C) Complex sentence YK
[a]:

(D) Exclamatory sentence

24, An ophthalmologist deals with
(A) matters of the brain.

(B) diseases related to the respiratory

system,
(C) diseases of the eye.
(D) a particular skin disease.

25. Insertthe correctpreposition in the following

sentence;
He acceded
{A) for
(B) of
(C) on
D) to

my request.

SLA/23-D-1190092/04
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26. A

of wolves.

(A) herd

(B) colony
(C) drove

(D) pack

27. The adjective form of the word ‘Glory’ is

(A) Gloried
(B) Glorions (=75
(C) Glorification E

(D) Gloriously

28. Fill in the blanks in the following sentence

with the appropriate words:
Aman live satisfactorily
he does at present half his

present income.

(A) could, very, as, by
(B) can, as, as, on

(C) would, as, like, with
(D) will, very, since, by

29. Study the following sentence:

Come and meet me in my office.
What part of speech is ‘me’?
(A) noun

(B) adverb

(C) pronoun

(D) modal verb

30. A synonym of the word ‘Equivocal’ is

(A) Ambiguous
(B) Equal
(C) Clear
(D) Vocal

El%
"I
=1z
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31. Thegreatestnumberwhichcandivide 1356, * 31, (R J2ew W W@ 1356, 1868 @R
1868 and 2764 leaving the same remainder 12 in : 2764~ ©i% T3 afre Sioeg 12 Ta?

each case is
(A) 64
(A) 64 ,{Ep E] @) 124
(B) 124 =] E (C) 156
(C) 156 (D) 260
®) 260

®
*
*
®
&
*
¥*
R
®
*
*
®
£t
®
B
&
£z
]
®
4t
L+
]
L+
]
&
£
]
L]
®
®
-]
]
®
&
8
%
]
3
]
3k
3*
B
B
*
¥*
®
B
*
*
B
B
*
*
¥*

aremainder of 3 in each case are AT ST 3 A L
(A) 2and 11 A 24911
(B) 11 and 13 B) 114 13
(C) 3and7 (©) 397
(D) 5and 7 D) 5997
35. How much time does sunlight take to reach 35, E SET SRIAe (Hive Fo g et
the -Eart(hz) _— A) 8RR %: (]
minutes RRG MK Ay
(B) 2 minutes (B) zﬁﬁﬁs‘ [m]s
(C) 4 minutes © 4
(D) 16 minutes (D) 16 G
[=] 5 =] Please Turn Over
=

32. Who of the following is associated with the 32, FeReafermaTg @ EIvITT AEE’s

musical instrument called Sarangi? A TE? E] E
(A) Amjad Ali Khan @ ot ot wg‘g
(B) V.G.Jog SIS g
(C) Buddhadeb Das Gupta ®) fe. . caret ¥
(D) Binda Khan (C) T ey
(D) Rt A=

33. If in a calendar-year, January starts with
Monday, how many Wednesday do you have in
January?

33. I < FFo-wE TRER oF ¥
CTIEIE, SR TiAiEce Foufk 4119 SNR?

A) 6
® 6 EE i
TS . ®B) 4
®) 4 :
] © 3
© 3 ) O) 5
©) 5

34, Theprimenumbersdividing 143 and leaving 34, (@R 76 GlieTe HRY! e 1436 ot Tt
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36. A shopkeeper has a certain number of eggs
of which 5% are found to be broken. He sells 93%
of the remainder and still has 266 eggs left. How

many eggs did he originally have?
(A) 3800 %@
(B) 4000 =]
(C) 4200
(D) None of the above

37. A positive number, which when added to
1000, gives a sum which is greater than when it is
multiplied by 1000. This positive number is

(A) 1
®) 3
© 5
) 7

38. A group of 1200 persons consisting of
captaing and soldiers is travelling in a train. If for
every 15 soldiers there is one captain, then the
number of captains in the group is

(A) 70 *-me- E
®) 75 s

(©) 80
D) 82

39. Who was the first women President of the
Indian National Congress?

(A) Sarojini Naidu
(B) Annie Besant
(C) Neli Sengupta
(D) Aruna Asaf Ali

SLA/23-D-1190092/06
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36. 9T MIFHRIET Fte @« v =g
©lF 5% ol | A Bwg 93% R s 7 wig
0 266 T & S4B AT | ddm ol sigFosl
s foei2

(A) 3800
(B) 4000
(C) 4200

) Toimg @RIbE

37. 930 IS AL, I X 1000 GFiet I
CalsIeT TRANGF FITY 1000 @4 T BT (AT

00! 2 | (IS ARG & ENE
(A) 1 YK
B) 3 [=]z
© 5
D) 7

38. AT 1200 SRR I BRI G
G TN | I AT 15 G TGP Tl o
TP TS FA?

(A) 70
(B) 75
(C) 80
(D) 82

39, SO TN FLACR 24T VA Aol &

(A) TR 7Ry = &
(B) =0 =Ie %%
(C) et Greg OE

D) S S e

w!



40. Atwhattime between 9 and 10 o’clock will
the hands of a watch be together?

(A) 45 min, past9 E E
(B) 50 min. past9 '{P‘%
’ 1 E-

(9] 49H min. past9

o) 48% min. past 9

41. ‘National Nursing and Midwifery
Commission Bill’ is associated with which Union
Ministry?

(A) Ministry of Health and Family Welfare
(B) Ministry of Home Affairs

(C) Ministry of Women and Child
Development

(D} Ministry of Science and Technology

42, How many Fundamental Duties are
mentioned in the Indian Constitution? E E

(A) Five QK forht
(B) Seven [u]
(C) Nine

(D) Eleven

43, Parkachik Glacier is located in which State/
U.T.?

(A) Arnachal Pradesh
(B) Ladakh

(C) Jammu and Kashmir
(D) Sikkim

44. The Lonar Lake is located in—
(A) Tamil Nadu
(B) Maharashtra
(O Uttar Pradesh
(D) Odisha

=)
4

T

40. 9%1'8 10 5 1 P FH Wieq w7 St
GTANY AF?

(A) 9% (i 45 R
B) 9%t = 50 "G

(C) 9% @ 49—11—1 G

D) 9% == 481—21ﬁﬁ%‘

41. ‘T AR S freenizw SR &
G (T TP A TS 2
(A) = 8 AR Sl T
®) TG T %1%
(©) e Fro B P w3
D) RE e a3 it

42, OFeH WRE FA% @fFe 6T Sa
iR ?
(A) ®
(B) e
(C) T
(D) QA

43. B AT W e / U.T.~9 S_EFo?
(A) SFiGe ot
(B) =M
(C) & e T
(D) Ffew

44. FEFE T SR T—

REURGZBAANDIER BB AR DIBORERBAGEATATFTAINANSTAIAERTEN AT EADERAED D % *®

B) TH Lo
(©) Taasinet =z
(D) et

Eﬁ Please Turn Over

=
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45, Theratio between the speeds of two trainsis
7:8. If the second train runs 400 kms in 4 hrs, then

the speed of the first train is
(A) 70 km/hr %@
(B) 75 km/hr [C1F
(C) 84 km/hr
(D) 87-5 km/hr

46. Which of the following sports is related to
the Ezra Cup?

{A) Polo

(B) Tennis

(C) Lawn Tennis
(D) Cricket

47, Which State does not share border with

Myanmar?
(A) Assam
(B) Nagaland
(C) Manipur qmp_ E
(D) Mizoram E'_

48. Bhitarkanika National Park is located in
which State?

(A) West Bengal
(B) Bihar

(C) Odisha

(D) Uttar Pradesh

5
49. T of which sum is equal to 3% of T 100?

*
¥*
*
B
®
*
*
R
B
*
*
R
®
*
*
B
&
®
&
L+
&
&
&
&
&
<
£
<
R
&
&
L
]
&
&
R
&
&
-
#
a
&
&
*
¥*
&
*
*
*
&
8
*
¥*
&®
®
*
*
*

45. 7% G smsaeRAte e 7: 8 1T faem
G 4 9% 400 B, 17, L7 &AW G g stfewaa
EG]

(A) 70 BRi/a%!
B) 75 /B
(©) 84 Tl
®) 875 /%

46. NI I (G Gt Firsig AL T Fo ?

(A) el
Egg
b ey
=1

B) &
(C) oW G

47, Taffeaegefmwy @b

HCR NAES TG AGS #2?

(D) Terceb
(A) S
B) AsiES
(C) =it
(D) farw

48. Torsiie Wy TN iR AT S_FS
(A) o=
®) R
(C) efet
(D) Tezeme

49, T W——w 100 %‘ma 3—

(A) T750 TR LA
(B) T 800 (A) 750 Bi=dl .{pgg
(C) 900 (B) 800 Bz
(D) X 1000 (C) 900 Gizef
(D) 1000 B
[=] 5 [=]
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50. Which is the smallest country in the world,
with an area of only 0-49 square kilometer?

(A) Monaco E%‘%
ey e
[=]:

(B) Vatican
(C) Andorra
(D) Casablanca
51. The average of ten numbers is 7. If each
number is multiplied by 12, then the average of the
new set of numbers is
(A) 7
B) 19
(C) 82
(D) 84
52, If a bucket is 60% full, then it contains
4 litres more water than when it is 463% full.
What is the capacity of the bucket?
(A) 30 litres
(B) 15 litres

© 161;'- Jitres
(D) 20 litres

i
=]z

53. The HCF of two numbers is 8. Which one of
the following can never be their LCM?

(a) 24
(B) 48
(C) 56
(D) 60

54. A man distributes ¥ 1,65,000 among his
danghter, wife and son in such a manner that % of
_t]lw daughter’s share, %th of the wife’s share and
Eth ofthe son’s share areequal. Find the daughter’s

share.
(A) ¥ 15,000
(B) 30,000
(C) 45,000
(D) ¥ 60,000

SLA/23-D-1190092/09
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50. Wig0-493fRTAG ST Rodswew
ol Cpinfh ?

(A) @A
(B) it
(C) et
(D) =g

51. w6 SRYEF 5T 7| Grerab AT 12w
¥ LR [ g =G TG ANST I ©IAT 1% 7

(A) 7 E]i%
el
=]

®) 19
(©) 82
(D) 84
52, @3l 46%% ©f¥ ATe (@ AT e
QHL O (AT 4 617 o @M e I I’
60% ©f% Aew | ol T wae Fo
(A) 305
®) 15FBR
© 16%@131?!
D) 20 =o™"

53, 46 WY LS. 81 NHT @B FAAR,
TRYMHI Q. TIAA?
(A) 24
(B) 48
(C) 56
(D) 60

54. 93 I 1,65,000 5 O T, § @ #jgag
mm@maﬁmmmw 2itel Bt
wﬁs flEd ar@%ﬂsm g @ AR i Sl

g wmmlwmwmqwm?

(A) 15,000 5t
(B) 30,000 et @E
(C) 45,000 5=t [®]:%3
(D) 60,000 5t

E Please Turn Over
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55. Market Control Policy had been first

introduced in medieval India by
(A) Titutmish []2 [s]
(B) Giyas Uddin Balban ‘é“"
(C) Alauddin Khilji =
(D) Feroz Shah Tughlug
56. Anasagar Lake is located in which one of
the following States?
(A) Gujarat
(B) Rajasthan

(C) Uttarakhand
(D) Karnataka

57. Whichis the highest peak in Andaman and
Nicobar Island?

(A) Mount Koya
(B) Mount Diavolo
(C) Saddle Peak
(D) Mount Thullier

58. The speed of aboat in still water is 10 km/hr.
If it can travel 26 km downstream and 14 km
upstream in the same time, the speed of the stream

18

(A) 2 k/hr (514 [s]
(8) 25 km/hr E
(©) 3 kmy/hr -
(D) 4 km/hr

59, Recently whichIndian shuttler won thetitle
of the Bonn International Tournament?

(A) Aakarshi Kashyap
(B) Ashmita Chaliha
(C) P.V. Sindhu

(D) Tanvi Sharma

[=]

?]%E:i
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55, JMEAT S @ AT 24 I g
TS v FRREW L
(A) gl
(B) fmefm 7w
(C) wEeh Re
(D) e g vwes

56. SIS g7 A ITE0 SRIRO P
(A) gl
B) srEgH
(C) Tears
(D) Fo®

i

57, FefEieokE Ieg @R SN ¢ Ry
Riotojred Al e
(A) TS @l
(B) W% fraiceten
(C) reet =5
(D) T et

58, Brewe qolb (ieiw sdforast 10 Rfi/a%
It (IS @ion g 26 [/ ok @
dfogE 14 R 9w T afemy I, o
@ITeq siferet el 1

(A) 2 Rf/aw!
(B) 2-5 Fhi/a%:
(C) 3 Rfi/em
(D) 4 RRi/a%

59, ArSFINE @N ©Igel HGad Bonn

wwEiee AR el o wEEn e
(A) S et %E
(B) et sie [=]:
©) #fs. Frg
(D) oS =
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60. Theterm ‘Orographicrainfall’ isassociated * 60, ‘Sl B’ =6 T3 R 7@ 8
with: *
() TFRtes Fie 778 PR
(B) T IRES P JfRsire
(€) =es A 78 YR
(D) Ao e Tigi 778 gBeire

(A) rainfall caused by cyclones.

(B) rainfall caused by warm air masses.
(C) rainfall caused by mountains.

(D) rainfall caused by convection currents.

61. 25 (ENIF @ 7 &R 3P G DT 14 7
FACS AT 3R 3T (IS8 8 T 6T 92 (IR
1117 18 7 | 8 T (@11 € 6T S 63 FIT

61. 2men and 7 boys can do a piece of work in
14 days; 3 men and 8 boys can do the same in
11 days. Then 8 men and 6 boys can do three times
the amount of this work in

(A) 18 days '{Eﬁ E| fomad T1e ToME 19 FaE? @ El

‘ (B) 21 days af (®) 18f OfE
(C) 24 days ®) 21
! D) 30 days ©) 24w
D) 30T

62. Which country hosted the ‘World 62. (¥ (T 2024 A o Al fer—ag

BREEEVTAIBATAASTLTAIARROEUAARDRARDD R RR R K

Environment Day 2024'? Siae ke
(A) Saudi Arabia (A) G =iz
(B) Russia
(C) India () A
(D) Australia © wme
(D) SRR
63. What is Argentina’s currency? 63. e o Im e G0
(A) Dollar ] 44 ] (A) W T
. (B) Kxoon ot r (B) w E_
{C) Peso EIE © e
(D) Sol
(D) &

64. Which institution has released guidelines 64. PR BN SRS AuA~oir GREREFE

REE SRR R X KRR RCECE $ - N R R

for livestock telemedicine in India? g R .
@(;;Nﬁsalmﬁmﬁ for Telemedici ®)
ational Institution for Telemedicine ®) -
(C) NITI Aayog ﬁﬁm =T SAPBHH ¥ BRERHH
(D) National Dairy Development Board © et
(D) TSN Tk Be (A6

% Please Turn Over
[5] 25
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65. Who is considered the founder of *
Renaissance Art?

(A) Donatello

(B) Giotto

{C) Masaccio

(D} Leonardo da Vinci

66. When was FIFA founded?
(A) 1900
B) 1904
(©) 1920
(D) 1930

67. The dance form called ‘Mohiniyattam® is

associated with which State of India?
(A) Kerala
(B) Telangana
(C) Tamil Nadu
(D) Karnataka

68. Which one is the important macronutrient

for the plants?
(A) Nitrogen
(B) Manganese
(C) Copper
(D) Chlorine

69. Whichofthefollowing Amendmentsallows
aconstitutional status to the Panchayat Raj system?

(A) 71st Amendment
(B) 72nd Amendment
(C) 73rd Amendment
(D) 74th Amendment

SLA/23-D-1190092/12
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KEABTIEAABRRIAXNRDAAX PTRABESIPRTREGANROTIONTIATTIEIABRAIBAANDRD AN D D KK
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=

65. @ Pt 2fdiel st Rt s e

(A) CBHIGET

@) Frera

(C) wHifPs

(D) e wt f&fe

66. %% T Ao e

(A) 1900 qli%g
(B) 1904 :

(C) 1920 [=:
(D) 1930

67. (RRSIG SIAtex @ AT TSAN 2

(A) ¢4t
(B) CotTHIA
(C) wifeg
(D) o

68. CeTrd & SR AfRSedmin

(macronutrient) 3¢

(A) RGICEw
(B) Wi=fE
(© ot

(D) A

69. 5T R TRYF AN NG ALEAS

e I AT i rent e
(A) 71O FTHESt okl
(B) 72 LA w&
(C) 739 Tyl =]z
(D) 74%% ATYN

3



73. The average of the first nine prime numbers

18

70. Who wrote the book ‘Life Divine’?

(A) Swami Vivekananda
(B) Keshab Chandra Sen
(C) Aurobindo Ghosh

(D) Swami Dayananda Saraswati

71. Lek is the currency of which country?

(A) Azerbaijan
(B) Angola
(C) Indonesia
(D) Albania

72. The value of 999%x999 is
999
(A) 990809
(B) 998996
(C) 998999
(D) 999824

A9

®) 11
1
© 115
2

s 115

74. Numismatics is the study of—
(A) Stones and Coins
(B) Terracotta
(C) Coins
(D) Inscriptions

SLA/23-D-1190092/13
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70.

71,

72

73.

B o

‘Life Divine’ 936 (& foaez?
(A) Tl REsfT%

(B) @I58 GH

(C) wrafa™ ca13

(D) T v e

T G O |l e
(A) SERREER
(B) SGICHIsT

(C) Tl
(D) SR

E%g
4
0¥

995

99922° « 999~ i
999 " =

(A) 990809
(B) 998996
(C) 998999
(D) 999824

e Al GRS Y9 I8 T3
(A) 9

®) 11

1
© 115

2

D 115

74. WP T 9 ST —

(A) A" e @
B) oM

©) i
(D) M=

EE
el e
[=]:

Please Turn Over



sy RS

75. Which of the following best describes a
‘bear market’?

(A) A market in which prices are rising
(B) A market in which prices are falling
(C) A market with stagnant prices

(D) A market with high trading volumes

E]g%
e
[=]:

76. A man in a train notices that he can count
21 telephone posts inone minute, ¥f they are known
to be 50 metres apart, then at what speed is the train
travelling?

(A) 55 km/hr
(B) 57 knv/hr
(©) 60 km/hr
(D) 63 km/hr

77, % of a tank holds 135 litres of water. What
part of the tank is full if it contains 180 litres of

water? | E. E
1 YKy
® % (=
1
®) 3
2
© 3
2
(D) 3

78. A number reduced by 35% becomes 325.
What percent should it be increased so that it
becomes 6507

D-14

* 75 AT FAT R W@ AR 3

A
(A) 93 I @A T ST
(B) <2 ASlq FAE wN TR
(©) 2 PR < e
D) T (G efFiowr g e

76. <% I& G T I A 1 G 21 B
GG (A% (4Te 7 | I BReR irbafag
WgRE 7@ 50 Bl &, o GAbe ARwe T

e OO
(A) 55 R/t E%
B) 57 Byt -
(C) 60 FRefi/as
(D) 63 B/t

77. 93 GitER % gt 135 6 & 4o 1 3l

BrElre 180 B0 o1 AU, Ol oiElba T u
T OfS YR

(A)
(B)
©

D)

Vi WK Wi o=

78. 36 TR 35% TPT (AT T 325 =W
TG e R 29 7S =& IRYM 650 TI?

AU BBUARBRRAREB A APV ZERBIFEBEIAITIRTIATTTROCOARAOREAGEEAABRRARD D KX

(A) 25% =19 [x]
A) 25% P
o o 2
(C) 35% © 35% =
D) 45% D) 45%
ok{o
o
[E 3
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79. ‘Operation Sarvashakti’ recently seen in * 79, W= FeIH ©L5 WA So{ita FIfE
the news, was launched by which armed force? : I TP QMR Qi o A D

(A) Eﬁaﬂ ﬁ“ Force (A) o R 2R

(B) Indian Navy mg EIE. (B) o IR

(C) Indian Coast Guard K

(D) Indian Army f (C) ©IFSH Gotgerar Rl
(D) SHSE FWREA

80, Who founded the University of Nalanda? 80, ¢ AT e 2ot e e

@ sumasge ® e
andragup
(C) Skandagupta g ::;f@@ (=} [s]
(D) Kumargupta [ i,
(D) 29y e []:

81. AandBinvestinabusinessintheratio3:2.
If 5% of the total profit goes to charity and A’s

81. 3T SAMIfR TP A 8 B-4H TAGTH
e 3:21 I (G SIS 5% Wi T T 9R

share is ¥ 855, the total profit is E E A7 T 855 Bl 23 O, GU5 #11S d
@ TL40s Bl L s
o =]z ®) 1,500 51!
(© T1,573-50
(D) T 1,575 (€) 1,573:50 5t
D) 1,575 5=

82. A sum of ¥ 750 is distributed among A, B,
C and D in such a manner that A gets as much as B
and Ctogether, B getsT 125 more than Cand D gets
as much as C. What is A’s share?

82. A,B, C'6 D~ 9 750 bial @OiE ©ist
T T TS A-4F 2 B B @ C~99 2 BIelg
@TETE AN 28, B9 oY Bl C9F (/S
125 1% A 28 «R D8 C97 2t Bigig sifsud

AAKADHEAUDIA AR A A TIPSR EISBETTINCIAOIPANTTNBRIOBEEARDAAD BB D

(A) 100 T T | A~9F i B Ao o e
T 225
g eoe (A) 100 B E!. @
<108 B) 2255 e @é
D) (©) 2755 [=]:
(D) 325 Bt

3
0

Please Turn Over
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83. A motor car starts with speed of 70 km/hr *

83. < QG4 sitfe 70 RRy/<% @t 3 o

with its speed increasing every two hours by : T 2R ﬁ@@ﬁmm siferas 10 BEy/<H
10 km/hr. In how many hours will it cover 345kms? g 3 <l | e AR 345 R it wifve e

(A) 2% hrs
(B) 4 hrs 5 min
© 4% hrs

(D) None of the above

EE
e o
[=]s

84, An article was sold for ¥ 144, If the
percentage of profit was numerically equal to the
cost price, then find the cost of the article.

(A) 72

B) T80
(©) T90
(D) T 100

85. The 2026 ICC Men’s T-20 World Cup will
be jointly hosted by
(A) India and Bangladesh E“’g
®) India and Sri Lanka 1E|
(C) India and Pakistan -
(D) Bangladesh and Sri Lanka

86. Who among the following is the winner of
Bharat Ratna in 20247

(A) Karpoori Thakur

(B) API Abdul Kalam

(C) Pandit Ravi Shankar
(D) Shah Vikram Sarabhai

87. Whenoneeventbrings aboutanotherevent,
it is known as:

KUK BDARABBA ARSI A RBIRIRRBAEBCICEANTAOAROARABOTRAUARRBAERBRE AR

TO T (TA?

1
(A) 22 T

(B) 49%t 5 G
(C) 4%?@1
(D) SoiEd @R T

84. <3 T 144 519R Rir s gm o <3t
wiced ARYNA TAby TR AR AN S |

AN FE) FO A2
2
e
[=]x

(A) 725
(B) 80 Gt
(C) 90 5=
(D) 100 Bt
85, 2026 #Aheia wig 1 B e 520 Reieam
T EES TR (T 46 o 7
(A) SIS ¢ T
(B) ©fF® 8 oz
(C) ©iFs ¢ A
(D) IETH 8 e

86. FaFERegemaTwg @ 20247F oFeRy
T TS PRTA ?
(A) TR oA
®B) Q.05 S A
(C) +few afmEs
(D) ReFx Amreiy

87, T4 <{B Yo SES WO Ry e, o
9t sfdtozx ¢

(A) Correlation A) Al
(B) Comparison ®) W“” i .{EP E
(C) Causation E
(D) Association (C) fPie i
(D) hifs

=] K [x]

A

=y
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88. The concept of ‘Gig Economy’ is
characterized by

(A) Full-time employment with benefits.
(B) Short-term contracts or freelance work.

(C) Government jobs. E] E]
(D) Traditional economy. R o
=]

89. 10 men can complete a piece of work in
15 days and 15 women can complete the same
work in 12 days. If all the 10 men and 15 women
work together, in how many days will the work get

completed? TG D ¢ T2
(A) 6 days ) _ﬁﬁq
®) ‘ﬁé days ® 6;
© '6% days © ‘sg i
D) '7% days (D) -7§ﬁﬂ

90. Inaclass, %th of the students are girls and

rest are boys. If %th of the girls and %th of the

boys are absent, what part of the total number of
students is present?

KEUBRUAEDBIAKDBAR TIPSR EEVEIIRCOTEAICIAICAISAVOIUBTEAANDDAABDAED D * %

w 2 %2:% Geifge et
25 =] ‘
18 (A)
(B) 9
23 ®)
© 30
23 ©
D) 36
(D)
[=1 5 [=]

SLA/23-D-1190092/17

B

88. ‘ool TR (IRl MY =
(A) AR To1-0 51|
(B) weicwiM pie a1 Freps e
(C) RFi PR |
(D) afezyse Ges|

89. 10 <779 i ey 15 M (17 T 9R

15 & WfEn 63 @38 e 12 i 99 ) T
10 O 9 @ 15 @ WEET! Gt b 9, )

Ei‘%
b e
[=]:

90. <3 FIFT G FIRAT % ool 2y} @ S

17
25

1

49
23
30
23
36

wet B Wit | I ST 9dR —;- oRat IR B

%WW"@@ P, O (B BRI FE S

G
R
o
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91. Which State adopted the Three-tier * 91, (W oy 2ABET F-TAT sFE® IS

Panchayati Raj system for the first time? ¥ e ot
(A) Rajasthan (A) oA
(B) Andhra Pradesh EE B) EETR
(C) Bihar Lt L :
(D) Kamataka [z © Fam
D) e

92. Which State has recently introduced a
comprehensive social welfare scheme named
‘yogyasree'?

(A) Bihar

(B) Jharkhand

(C) West Bengal
(D) Madhya Pradesh

93. Atwhat rate per cent of simple interest will

92, @ qey T2 qI vl AT o
A% ‘TR B FRR?L

(A) Re

®) e @%E
(C) wfeoaae =]
(D) Sgeivm

93, I TEige 12 IR Thed o=, AT s

a sum of money double itself in 12 years? T TS ?
" _
(&) 8% @g O ®) 8%
- 1 - .
(B) _85% [=: ®B) 8%%
) 8~% 5]
©) | 27 © 85%
1 :
®) 95% D) 9%%

94. The least perfect square number divisible

by 3,4,5,6and 81is E1e

AR RARBEUABEAXR QR ARBRELAOBRACNSAVCAACRATTIBBABARDBUXGEERS S

(A) 900

(B) 1200

(C) 2500

D) 3600
[l [=]
=
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94, 3,4,5, 69 § o Ry gwen gds{

(A) 900 .LLEJ El
(B) 1200 Ei-

(©) 2500
(D) 3600
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95. What is the capital of Nigeria? 95, WECHEAE ATLR e
(A) Algiers (A) SRRt
(B) Abuija
(B) i@

(C) Lagos @ E] ©) T
(D) Nairobi E[

- (D) @R

96, Rajaji Raghati Biosphere Reserveislocated 96, TG FLS AR s orcss @i

in which State of India? ey SR/
| (A) Uttarakhand (A) TemRe -LLEP%
(B) Himachal Pradesh - '
{ (C) Maharashtra ® 2 = =
‘ (D) Karnataka (©) =
‘ D) o=

97. A fanis listed at ¥ 1,500 and a discount of
20% is offered on the list price. What additional
discount must be offered to the customer to bring
the net price to ¥ 1,104?

97. 93 WER FEET 1,500 B @) 6%
YRR B 20% WS (RET ZW| GIAT FOo!
wfefie e it eg wif «em et 1,104 B

A) 8% = E] o e @ wileEe

(B) 10% E (A) 8%

(©) 12% ) (B) 10%

D) 15% ©) 12%
D) 15%

98. Goods and Service Tax council (GST) of 98. ©iFTed #if ¢ ARG I AR @9

LR AR R TR E R R R - R R - RO RCR TR R R R R R R R R R R R R AR R R R R R R

India is(hcadcd by -
A) Prime Minister A) o
(B) Finance Minister ((B; WIT;%@ l{E]p- E
(C) Finance Secretary i’
(D) Speaker of Lok Sabha (C) wgAmI
(D) EI=TeR FeiglE
E’E Please Turn QOver
=
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99. Jamini Roy was a famous

D-20
99, RT AT e R

— |
(A) Producer A) dEES
®) i myE s O @%g
A -
Clor
D) wfStrst

100. In a mixture of a milk and water, the
proportion of water by weight was 75%. If in the
60gm mixture 15gm of water was added, what

would be the percentage of water?
(A) 75%
(B) 88%
(C) 90%
(D) 80%

SLA/23-D-1190092/20

100. 315 74 @ o FRr sues R 75%
e Siez | 3t 60 A1 € Fe 15 sl o= cutot <t
T o[ g R *ieaa F© ©to T AFE

(A) 75%
BIE S o m %%g
af (© 90% OF
D) 80%

AU BERABTRARDPER XTGP IBEIPEROPTDADPOIRECTAEIROEARBE A D E N ND Rk



